	Department of Education and Training Examination subject: English-Group D   
	The university and college practice exam 2012.

 The first time             


(80 multiple choice sentences- Time allowance is 90 minutes)

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 1: Chemistry is my ______ subject at school. 

A. favourite 


B. popular 

C. liking 


D. wanted 

Question 2: - "Would you like to join our volunteer group this summer?" 
- "______" 

A. Do you think I would? B. I wouldn't. Thank you. C. Yes, you're a good friend. D. Yes, I'd love to. Thanks. 

Question 3: - "Wow! What a nice coat you are wearing!" 
- "______" 

A. Certainly. Do you like it, too? 

B. I like you to say that. 

C. Yes, of course. It's expensive. 

D. Thanks. My mother bought it for me. 

Question 4: My supervisor is angry with me. I didn't do all the work I ______ last week. (người giám hộ/sát)

A. should have done 

B. may have done 
C. need to have done 

D. must have done 

Question 5: He runs a business, ______ he proves to have managerial skills. (run)

A. however 


B. otherwise 

C. and 



D. despite 

Question 6: Whenever he had an important decision to make, he ______ a cigar to calm his nerves. (thói quen)

A. would light 


B. would be lighting 
C. would have lit 

D. had lit 

Question 7: Preparing for a job interview can be very ______. 

A. stress 


B. stressful 

C. stressed 


D. stressing 

Question 8: My brother left his job last week because he did not have any ______ to travel. 

A. position 


B. chance 

C. ability 


D. location 

Question 9: Not until the end of the 19th century ______ become a scientific discipline. (# it be not until)

A. plant breeding has 
B. did plant breeding 
C. plant breeding had 

D. has plant breeding 

Question 10: - "I can't speak English well enough to apply for that post." 
- "______." 

A. Me neither (-)

B. Me too (+)

C. Me either 


D. Me also 

Question 11: "How can you live in this messy room? Go and ______ it up at once." 

A. dust 



B. sweep 

C. tidy 



D. do 

Question 12: Tears contain an antiseptic ______ helps protect our eyes from infection. 

A. that 



B. what 

C. how 



D. where 

Question 13: She is very absent-minded: she ______ her cell-phone three times! 

A. has lost 


B. loses 

C. was losing 


D. had lost 

Question 14: - "Which hat do you like better?" 
- "______" 

A. Yes, I like it best. B. The one I tried on first. C. Which one do you like? D. No, I haven't tried any. 

Question 15: He always ______ the crossword in the newspaper before breakfast. 

A. writes 


B. makes 

C. works 


D. does 

Question 16: It is hard to get ______ him; he is such an aggressive man. 

A. by 



B. on with 

C. into 



D. over to 

Question 17: The new director of the company seems to be an intelligent and ______ man. 

A. well-educated 

B. well-educate 

C. well-educational 

D. well-education 

Question 18: The movie is ______ Shakespeare’s Hamlet in a number of ways. 

A. like to 


B. alike with 

C. similar to 


D. same as 

Question 19: Although the exam was difficult, ______ the students passed it. 

A. most of 


B. none of 

C. a few 


D. a lot 

Question 20: - "Our team has just won the last football match." 
- "______" 

A. Good idea. Thanks for the news. 

B. Yes. I guess it's very good. 

C. Well, that's very surprising! 

D. Yes, it's our pleasure. 

Question 21: Vietnam's rice export this year will decrease ______ about 10%, compared with that of last year. 

A. with 



B. at 


C. by 



D. on 

Question 22: By ______ the housework done, my mother has more time to pursue her career. 

A. ordering 


B. taking 

C. having 


D. making 

Question 23: The youths nowadays have many things to do in their ______ time.           

A. leisure 


B. entertainment 
C. fun 



D. amusement 

Question 24: Mary is unhappy that she hasn't ______ for the next round in the tennis tournament. 

A. qualified 


B. quality 

C. qualification 


D. qualifying 

Question 25: Working hours will fall to under 35 hours a week, ______? 

A. will they 


B. won't they
 
C. won't it 


D. will it 

Question 26: This factory produced ______ motorbikes in 2008 as in the year 2006. 

A. twice as many 

B. as twice as many 
C. as twice many  D. as many as twice   

Question 27: In many big cities, people have to ______ up with noise, overcrowding and bad air. 

A. keep 


B. catch 

C. face 



D. put 

Question 28: Had she worked harder last summer, she ______. 

A. wouldn't have been sacked 
B. wouldn't have sacked C. wouldn't sack 
D. wouldn't be sacked 

Question 29: Listening is the most difficult language ______ for me to master. 

A. one 



B. way 


C. skill 



D. job 

Question 30: In the modern world, women's ______ roles have been changing. 

A. natured 


B. naturally 

C. nature 


D. natural 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 31: Successful salespeople know their products thoroughly ______. 

A. and the needs of the market understood 
B. but the needs of the market are understood properly 

C. and understand the needs of the market properly 
D. understanding the needs of the market 

Question 32: The Vietnamese students have to take an entrance exam ______. 

A. in order that they should go to a college or university 
B. for going to a college and university 

C. so as go to a college or university 


D. so that they can go to a college or university 

Question 33: ______, many animals can still survive and thrive there. 

A. Being severe weather conditions in the desert       B. Although the weather conditions in the desert are severe 

C. The weather conditions in the desert to be severe  D. Even though the weather conditions in the desert severe 

Question 34: Hillary changed her major from linguistics to business, ______. 

A. hoping she can easier get a job 


B. with the hope for being able finding a better job 

C. hoping to find a job more easily 


D. with hopes to be able easier to get employment 

Question 35: An excellent hairstylist can make a man seem to have more hair ______. 

A. as has actually he 
B. than he actually has 

C. than it actually is 
D. as is it actually 

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 36: My father used to giving me some good advice whenever I had a problem. 

                                                        A                  B                           C                      D 

Question 37: The woman of whom the red car is parked in front of the bank is a famous pop star. 

                                                   A                             B               C                                   D 

Question 38: The better you are at English, more chance you have to get a job with international organizations. 

                                 A                B                         C                                      D 

Question 39: There are differences and similarities between Vietnamese and American culture. 

                             A                                B                                      C                                     D 

Question 40: Society will be having to change radically to keep pace with the technology available. 

                             A             B                                                                   C                              D 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 41 to 50. 
Today we take electricity for granted and perhaps we do not realize just how useful this discovery has been. Steam was the first invention that replaced wind power. It was used to drive engines and was passed through pipes and radiators to warm rooms. Petrol mixed with air was the next invention that provided power. Exploded in a cylinder, it drove a motor engine. Beyond these simple and direct uses, those forms have not much adaptability. On the other hand, we make use of electricity in thousands of ways. From the powerful voltages that drive our electric trains to the tiny current needed to work a simple calculator, and from the huge electric magnet in steel works that can lift 10 tons to the tiny electric magnet in a doorbell, all are powered by electricity. An electric current can be made with equal ease (thanh thản) to heat a huge mass of molten (nóng chảy) metal in a furnace(lò nung), or to boil a jug (bình, lọ) for a cup of coffee. Other than atomic energy, which has not as yet been harnessed (khai thác) to the full, electricity is the greatest power in the world. It is flexible, and so adaptable for any task for which it is wanted. It travels so easily and with incredible speed along wires or conductors that it can be supplied instantly over vast distances. To generate electricity, huge turbines or generators must be turned. In Australia they use coal or water to drive this machinery. When dams are built, falling water is used to drive the turbines without polluting the atmosphere with smoke from coal. Atomic power is used in several countries but there is always the fear of an accident. A tragedy once occurred at Chernobyl, in Ukraine, at an atomic power plant used to make electricity. The reactor leaked, which caused many deaths through radiation. Now scientists are examining new ways of creating electricity without harmful effects to the environment. They may harness the tides as they flow in and out of bays. Most importantly, they hope to trap sunlight more efficiently. We do use solar heaters for swimming pools but as yet improvement in the capacity of the solar cells to create more current is necessary. When this happens, electric cars will be viable and the world will rid itself of the toxic gases given off by trucks and cars that burn fossil fuels. 

Question 41: The author mentions the sources of energy such as wind, steam, petrol in the first paragraph to ______. A. suggest that electricity should be alternated with safer sources of energy 

B. emphasize the usefulness and adaptability of electricity 

C. imply that electricity is not the only useful source of energy 

D. discuss which source of energy can be a suitable alternative to electricity                                       

Question 42: Before electricity, what was sometimes passed through pipes to heat rooms? 

A. Gas. 


B. Petrol. 

C. Steam. 


D. Hot wind. 

Question 43: What does the author mean by saying that electricity is flexible? 

A. It is cheap and easy to use. 

B. It is used to drive motor engines. 

C. It can be adapted to various uses. 
D. It can be made with ease. 

Question 44: What do we call machines that make electricity? 

A. Voltages. 

B. Electric magnets. 
C. Generators or turbines. 
D. Pipes and radiators. 

Question 45: The main forms of power used to generate electricity in Australia are ______. 

A. atomic power and water 
B. water and coal 
C. sunlight and wind power 
D. wind and gas 

Question 46: The word "they" in the last paragraph refers to ______. 

A. harmful effects 

B. the tides 

C. scientists 


D. new ways 

Question 47: Electric magnets are used in steel works to ______. 

A. lift heavy weights up to ten tons 

B. test the steel for strength 

C. heat the molten steel 



D. boil a jug of water 

Question 48: The advantage of harnessing the power of the tides and of sunlight to generate electricity is that they ______. A. do not pollute the environment 

B. are more reliable 

C. are more adaptable 



D. do not require attention 

Question 49: Which of the following power sources causes pollution by emitting harmful gases? 

A. Sunlight. 


B. Petrol. 

C. Water. 


D. Wind. 

Question 50: The best title for this passage could be ______. 

A. “Types of Power Plants” 


B. “Electricity: Harmful Effects on Our Life” 

C. “How to Produce Electricity” 

D. “Why Electricity Is So Remarkable” 

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions. 
Question 51: A. exist 


B. extinct 

C. explorer 


D. expand 

Question 52: A. eternal 

B. energy 

C. eradicate 


D. eliminate 

Question 53: A. ancient 

B. educate 

C. strange 


D. address 

Question 54: A. desert 


B. reserve /z/

C. observant/z/ 


D. conserve /s/
Question 55: A. astound 

B. account 

C. country 


D. mounting 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the blanks from 56 to 65. 
In the United States and Canada, it is very important to (56)______ a person directly in the eyes when you are having a conversation (57)______ him or her. If you look down or to the side when the (58)______ person is talking, that person will think that you are not interested in (59)______ he or she is saying. This, (60)______, is not polite. If you look down or to the side when you are talking, it might (61)______ that you are not honest.  However, people who are speaking will sometimes look away for (62)______ seconds when they are thinking or (63)______ to find the right word. But they always turn immediately (64)______ to look the listener directly in the eyes. These social "rules" are (65)______ for two men, two women, a man and a woman, or an adult and a child. 

Question 56: A. talk 


B. notice 

C. get 


D. look 

Question 57: A. with 


B. to 


C. for 


D. about 

Question 58: A. others 

B. another 

C. one 


D. other 

Question 59: A. which 

B. what 

C. that 

D. where 

Question 60: A. yet 


B. in addition 
C. of course 

D. although 

Question 61: A. become 

B. come 

C. seem 

D. turn 

Question 62: A. a little 

B. a few 

C. little 

D. few 

Question 63: A. trying 

B. looking 

C. achieving 

D. managing 

Question 64: A. up 


B. back 

C. down 

D. over 

Question 65: A. like 


B. the same 

C. likely 

D. such as 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 66 to 75. 
If parents bring up a child with the sole aim of turning the child into a genius (thiên tài), they will cause a disaster. According to several leading educational psychologists, this is one of the biggest mistakes which ambitious parents make. Generally, the child will be only too aware of what his parents expect, and will fail. Unrealistic parental expectations can cause great damage to children. 

However, if parents are not too unrealistic about what they expect their children to do, but are ambitious in a sensible way, the child may succeed in doing very well – especially if the parents are very supportive of their child. Michael Collins is very lucky. He is crazy about music, and his parents help him a lot by taking him to concerts and arranging private piano and violin lessons for him. They even drive him 50 kilometers twice a week for violin lessons. Michael’s mother knows very little about music, but his father plays the trumpet in a large orchestra. However, he never makes Michael enter music competitions if he is unwilling. Winston Smith, Michael’s friend, however, is not so lucky. Both his parents are successful musicians, and they set too high a standard for Winston. They want their son to be as successful as they are and so they enter him for every piano competition held. They are very unhappy when he does not win. Winston is always afraid that he will disappoint his parents and now he always seems quiet and unhappy. 

Question 66: One of the serious mistakes parents can make is to ______. 

A. push their child into trying too much 

B. help their child to become a genius 

C. make their child become a musician 

D. neglect their child’s education 

Question 67: Parents’ ambition for their children is not wrong if they ______. 

A. force their children into achieving success 
B. themselves have been very successful 

C. understand and help their children sensibly 
D. arrange private lessons for their children 

Question 68: Who have criticized the methods of some ambitious parents? 

A. Successful musicians. B. Unrealistic parents. C. Their children. 
D. Educational psychologists. 

Question 69: Michael Collins is fortunate in that ______. 

A. his father is a musician 



B. his parents are quite rich 

C. his mother knows little about music 

D. his parents help him in a sensible way 

Question 70: The phrase "crazy about" in the passage mostly means ______. 

A. "surprised at"   B. "extremely interested in" 
C. "completely unaware of" 
D. "confused about" 

Question 71: Winston’s parents push their son so much and he ______. 

A. has won a lot of piano competitions 

B. cannot learn much music from them 

C. has become a good musician 


D. is afraid to disappoint them 

Question 72: The word "They" in the passage refers to ______. 

A. concerts 

B. violin lessons 
C. parents in general 

D. Michael’s parents 

Question 73: All of the following people are musical EXCEPT _____. 

A. Winston’s father 
B. Winston’s mother 
C. Michael’s father 

D. Michael’s mother 

Question 74: The word "unwilling" in the passage mostly means ______. 

A. "getting ready to do something" 

B. "eager to do something" 

C. "not objecting to doing anything" 

D. "not wanting to do something" 

Question 75: The two examples given in the passage illustrate the principle that ______. 

A. successful parents always have intelligent children  

B. successful parents often have unsuccessful children 

C. parents should let the child develop in the way he wants 

D. parents should spend more money on the child’s education 

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions. 
Question 76: Unless someone has a key, we cannot get into the house. 

A. We could not get into the house if someone had a key. 

B. If someone does not have a key, we can only get into the house. 

C. We can only get into the house if someone has a key. 

D. If someone did not have a key, we could not get into the house. 

Question 77: She knows a lot more about it than I do. 

A. I know as much about it as she does. 

B. I do not know as much about it as she does. 

C. She does not know so much about it as I do. 
D. I know much more about it than she does. 

Question 78: The boy was not allowed to have any friends, so he felt lonely. 

A. Having no friends, the boy felt so lonely. 
B. Not having friends, they made the boy feel lonely. 

C. Having a lot of friends, the boy felt lonely. 
D. Deprived of friends, the boy felt lonely. 

Question 79: Is it essential to meet your aunt at the station? 

A. Did your aunt have to be met at the station? 
B. Does your aunt have to meet at the station? 

C. Does your aunt have to be met at the station? 
D. Was your aunt met at the station? 

Question 80: Conan said to me, "If I were you, I would read different types of books in different ways." 

A. Conan ordered me to read different types of books in different ways. 

B. I said to Conan to read different types of books in different ways to me. 

C. I read different types of books in different ways to Conan as he told me. 

D. Conan advised me to read different types of books in different ways. 

THE END

	Department of Education and Training Examination subject: English-Group D   
	The university and college practice exam 2012.

 The second  time             


(80 multiple choice sentences- Time allowance is 90 minutes)

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions. 
1.  A. cosmetics      
B. economics      
C. photography      

D. experence

2.  A. lemon      
B. physics      

C. decay      


D. decade

3.  A. modernise     
B. vaporise      
C. organise      

D. deliver

4.  A. vacancy      
B. calculate      
C. delicious      

D. furniture

5.  A. enjoy      
B. require      

C. apply      


D. whisper

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions 6.  We carried out a careful ....................of the area.

 A. education  
B. preparation  
C. calculation  

D. examination

7.  In the primary school , a child is in the ………….. simple setting. 

 A. comparison  
B. comparative  C. comparatively  
D. comparable

8.  After the …….. of the new manager the staff worked more effectively.               

 A. dismissal  
B. retirement  

C. resignation  
D. appointment

9.  The doctor took one look at me and said that I was …………. overweight. 

 A. slightly  
B. accurately  

C. certainly  

D. continuously 

10. Try and see things from my point of view, and be a bit more ………….. .

 
A. reasonable  
B. reasoning  

C. reason  

D. reasonably

11. There were 50 ………………in the talent contest.  

 
A. competitors  
B. examinees  

C. customers  

D. interviewees

12. His performance in King Lear was most ………….. . 

A. impression  
B. impressive  

C. impressed  

D. impress

13. Many trains have been cancelled and long ……………………are expected.

A. distance  
B. postponements  
C. timetable  

D. delays

14. The journalist refused to …………………….. the source of his information.

 
A. disclose  
B. expose  

C. propose  

D. enclose

15. The existence of many stars in the sky ……… us to suspect that thre may be life on another planet.

 
A. lead  

B. leading  

C. have led  

D. leads

16. Be careful with your gun! You may ………… somebody.

 A. injure  

B. wound  

C. hurt  

D. ache

17. Some of the passengers spoke to reporters about their ……. in the burning plane.

 
A. knowledge  
B. experience  

C. occasion  

D. event

18. After the enormous dinner he had to ………. his belt. 

 
A. broaden  
B. enlarge  

C. widen  

D. loosen

19. Throw away that old vase. Its ………… .

 
A. value  

B. valuable  

C. invaluable  

D. valueless

20. - Is the lift is working?. - No , its …………Lets use the stairs. 

 
A. out of work  
B. impossible  

C. in danger  
D. out of order

21. These people …………… for the most successful company in the town. 

 
A. are seeming to work  
B. seem working 

C. seem to be working 
D. are seeming to be working

22. …………in the hospital for 4 years, he has decided to give up his work.

 
A. To work  

B. Working  

C. Being working  D. Worked 

23. She has been sleeping for 10 hours! You …………her up.

 
A. had better to wake  B. may wake  C. must wake  
D. would like to wake

24. People think that an apple ………….. is good for you.

 
A. in a day  

B. for a day  
C. for every day  D. a day

25. I'll never forget ………….. you have told me.

 
A. anything  
B. what  
C. anything that  D. all are correct

26. Its wonderful here tonight ! Its ………. I have ever enjoyed agarden party. 

 
A. a long time  
B. the first time  
C. time  D. several times

27. He……… the plants. If he had, they wouldnt have died.

 
A. neednt have watered  

B. cant have watered  

C. shouldnt water  


D. couldnt water

28. What a fool I am! I wish I ……………. the choice.

 
A. didnt make 
B. wouldnt make  
C. hadnt made  D. werent making

29. People prefer watching TV these days ………. listening to the radio.

 
A. more than  
B. rather than  
C. than  
D. to

30. My friend is still optimistic ……………many difficulties he has to overcome. 

 
A. though  

B. however  

C. despite  

D. but

31. The sign says, “Private keep out”. You ………go in there. 

 A. don’t have to  

B. haven’t got to  
C. needn’t  

D. mustn’t

32. When his alarm went off, he shut it off and slept for ………..15 minutes. 

 A. other  


B. others  

C. another  

D. the others

33. A few months ago I moved into a very small flat after …….. for years with my parents. 

 A. be living  

B. having lived  

C. being lived  
D. have living 

34. On being told about her sack, ……………… .

 
A. her boss felt sorry for Mary   


B. Mary was shocked  
 C. Marys face turned pale   


D. all are correct

35. …………… down to dinner than the telephone rang again. 

 
A. No sooner I sat   



B. No sooner had I sat  

C. Not only I sat  




D. Not only had I sat

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the blanks from 1 to 10. 
 With the (36)____the motor car at the end of the last century a new era in personal transport was born. The early motorist had his problems _ the biggest one being (37)___ his vehicle would start or not. This problem has completely disappeared today, but others have taken its (38)__. More traffic and faster vehicles mean that  (39)_____  a car may be, its driver has to have much greater driving skill than before. 

 Todays drivers cant neglect their own personal (40)____ for the accidents that happen on the road every year. A good driver has many things in his qualities. Some of them, such as experience and skill, will come only (41)__, but attitude just as important  must be part of him from the beginning. These qualities are a sense of responsibility for the safety of others, a determination to (42)__ the job of driving, patience and courtesy. Together, these become (43)____ is generally known as the drivers attitude. 

 (44)_____, every driver must make a real effort to develop these qualities and this effort must start from the very beginning of the first driving (45)___ .

36. A. coming      

B. going      
C. arriving      
D. getting

37. A. when      

B. how      
C. whether      
D. why

38. A. place       

B. part       
C. turn       
D. back

39. A. however safe and reliable        

B. however safely and reliably 

C. how safe and reliable        

D. how safely and reliably

40. A. right       

B. responsibility       

C. fault       

D. concept

41. A. on time       

B. from time to time       
C. in one time       
D. in time

42. A. choose       

B. focus on       

C. take       

D. pursue

43. A. that      


B. it      


C. what      

D. there

44. A. Moreover       

B. Yet       


C. Therefore      
D. So far

45. A. lesson       

B. test       


C. licence       

D. practice 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the blanks from 1 to 10. 
 People have always dreamt of living forever. Although we all know this will (46)___ happen, we still want to live as long as possible. (47)__, there are advantages and disadvantages of a long life. In the first place, peole who live longer can spend more time with their family and friends. Secondly, (48)___ have busy working lives look forward to a long, (49)_______ life, when they can do the things theyve never had time for.

 (50)___, there are some serious disadvantages. Firstly, many people become ill and consequently have to spend time in hospital or become burden (51)_____ the children and friends. Many of them find this (52)___ annoying or embarrassing. In addition to this, (53)_____, the fewer friends they seem to have because old friends die or become ill and its often (54)_____ to make new friends. 

 To sum up, living to a very old age is worthwhile for those who stay (55) _______ to remain independent and enjoy life.

46. A. hardly       

B. not       

C. never       

D. all are correct

47. A. Naturally       

B. Really        

C. Consequently       
D. Surprisingly

48. A. people       

B. people who   
C. they       

D. everyone who

49. A. relax       

B. relaxing       
C. relaxed       

D. relaxation

50. A. In other words     
B. For example   
C. On the other hand    D. Contrary to

51. A. of      


B. on       

C. to      

D. with

52. A. dependence       
B. behaviour        
C. habit       

D. condition

53. A. when people get older       

B. when the older people get 

C. the older people get      

D. the old people get 

54. A. strange       

B. interesting     C. difficult       

D. convenient

55. A. healthy enough   
 B. enough health C. also healthy       
D. even health

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions
 Americas foods began to affect the rest of the world. American emphasis on convenient and rapid consumption is best represented in fast foods such as hamburgers, French fries, and soft drinks. By the 1960s and 1970s fast foods became one of Americas strongest exports as franchises for Mc Donalds and Burger King spread through Europe and other parts of the world, including Russia and China. Traditional meals cooked at home and consumed at a leisurely pace _ gave way to quick lunches and dinners eaten on the run as other countries imitated American cultural patterns. 

 By the late 20th century Americans had become more conscious of their diets, eating more poultry, fish and vegetables, and fewer eggs and less beef. Cooks began to rediscover many world cuisines in forms closer to their original. In California, chefs combined fresh fruits and vegetables available with ingredients and spices borrowed from immigrant kitchens to create an innovative cooking style that was lighter than traditional French, but more interesting  and varied than typical American cuisine. Along with the states wines, California cuisine took its place among the acknowledged forms of fine dining. 

56. Fast foods such as hamburgers, French fries, and soft drinks ………

 A. are traditional meals of the US people.
 B. are popular because of their nutritious values. 
 C. became more popular than meals cooked at home in China. 
 D. became popular with other European and Asian countries.

57. Which of the following is similar in meaning to the word cuisine?

 A. cooking  B. style of cooking  C. cookery  D. cook

58. What is the main idea of the first paragraph?

 
A. Americas cuisine used to have an influence on many countries.
 B. Fast foods became one of Americas strongest exports.
 C. Mc Donalds and Burger King are American food suppliers successful in Europe.
 D. Traditional meals cooked at home and consumed at a leisurely pace are not common in the US.

59. Which of the following statements is true?

A. By the late 20th century, fast foods had lost their popularity in the USA

B. Americans used to eat more poultry, fish, and fresh fruits and vegetables than they do now.

C. Cooking styles of other countries began to affect Americas by the late 20th century.

D. Fewer eggs and less beef in American diet made them fitter.

60. An innovative style of cooking was created in California ………..

A. to attract more immigrants to the state. 

B. and made the states wines well-known. 

C. by borrowing recipes from immigrant kitchens. 

D. by combining the local specialities with immigrants spices. 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

 Today the most universally known style of trousers for both men and women is jeans; these trousers are worn throughout the world on a variety of occasions. Also called levis or denims, jeans have an interesting story.

 The word jeans is derived from the name of the place where a similar style of pants developed. In the 16th century, sailors from Genoa, Italy, wore a unique tyle of cotton trousers. In French, the word for the city of Genoa and for the people from that city is Genes, this name became attached to the trousers and developed into the word jeans.

 Similar to the word jeans, the word denim is also derived from a place name. In the 17th century, French sailors began making trousers out of a specialized type of cloth that was developed in the city of Nimes, France and was known serge de Nimes. This name eventually developed into denim, the material which jeans are made and an alternative name for these popular pants. 

 The word levis came from a person. In the 19th century, Levis Strauss tried to sell heavy canvas to miners taking part in the hunt for gold in northern California. He intended for this canvas to be used by miners to make heavy-duty tents. This first attemp was a failure but he later found success when he used the canvas to make indestructible pants for the miners. He changed the fabric from brown canvas to blue denim, creating a style of pants that long outlived him and is now referred to by his name. 

61. All of the following are mentioned in the passage about Genoa except that it ………..

A. was the source of the word jeans  
B. is in Italy

C. has  a different name in French  

D. is a landlocked city

62. The word denim was most probably derived from …….

A. 2 French words   



B. 2 Italian words 

C. 1 French word and 1 Italian word  
D. 3 French words

63. All of the following are mentioned in the passage about Levis Strauss except that he ………..

 
A. failed to sell heavy canvas to miners to make tents 
 B. dyed the cloth from brown to blue
 C. made his success in creating a new style of trousers  
 D. was an immigrant to America

64. To develop the pants for which he became famous, Levis did which of the following?

 
A. He studied tailoring in Nimes 
 B. He used an existing type of material
 C. He experimented with brown denim 
 D. He tested the pants for destructibility
65. This passage is developed by………

 
A. mentioning an effect and its causes 
 B. explaining history with 3 specific cases
 C. demonstrating the sides of an issue 
 D. developing the biography of a famous person

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
66. Visitors may realize that even though they cant make their  homes in Da Lat city, they can take away with them memories of their beauty.

        A. may realize         B. even though         C. away        D. their beauty

67. His long-suffered parents are always ready to help him whenever he is in trouble. 

        A. long-suffered        B. ready to help        C. whenever        D. trouble

68. Bells told people of happy events, such as weddings and born or, sometimes had to announce unpleasant events such as a death

        A. of        B. born        C. had to        D. unpleasant events

69. Everyday in summer, but especially at the weekends, all kinds of vehicles bring crowds of people to enjoy the various attraction. 

        A. especially at        B. bring        C. crowds of people       D. various attraction

70. The young are thought to be the future leaders of the country, and it is essential that they should understand their heritage as full as possible.

        A. The young        B. are thought to be        C. it        D. as full as possible

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 

71. Betty isnt much heavier than Ann. 

 
A. Betty and Ann are exactly the same weight 

B. Betty is slightly less heavy than Ann
 C. Ann weighs a little more than Betty 
 D. Ann weighs slightly less than Betty

72. You may get cold on the way so take the coat. 

 A. To take the coat you will get cold on the way. 
 B. In case youre cold on the way ,you should  take a coat. 
 C. If you didnt take a coat , youd be cold on the way. 
 D. Only if you get cold can you take the coat. 

73. I whispered as I didnt want anybody to hear our conversation.   

 
A. So as not to hear our conversation I whispered. 
 B. Since nobody wanted to hear our conversation I whispered. 
 C. I lowered my voice in order that our conversation couldnt be heard. 
 D. Because I whispered , nobody heard our conversation. 

74. “May I have some chocolate, mum?” said the boy. 

 A. The boy asked his mother to have some chocolate. 
 B. The boy begged his mother to have some chocolate. 
 C. The boy asked for some chocolate.
 D. All are correct.

75. John asked Mary if it was the blue one or the green she wanted. 

 
A. “Which one did she want, the blue or the green, Mary?” asked John. 
 B. “Which one did you want, the blue or the green?” asked John. 
 C. “Which one does  Mary want , the green  or the blue?” asked John. 
 D. “Which one do you want, the blue or the green, Mary?” asked John.

Mark the letter A, B, C, or D on your answer sheet to indicate the best sentence  to each of the following given words.
76. We / informed / most / animals / zoo / starving / death.

 
A. We have informed that most of the animals at the zoo are starving to death. 
 B. We have informed that most of animals at the zoo are starving and death. 
 C. We have been informed that most animals at the zoo are starving and death. 
 D. We have been informed that most of the animals at the zoo are starving to death. 

77. It / better / play safe / exams / give / original answer. 

 
A. Its often better to play safe in exams than to give an original answer. 
 B. Its often better playing safe in exams than to give an original answer. 
 C. Its often better to play safe in exams than giving an original answer.
 D. Its often better playing safe in exams than  giving an original answer. 

78. small shopkeeper /  face / fierce competitiveness / supermarkets. 

 
A. The small shopkeeper is faced fierce competitiveness of supermarkets. 
 B. The small shopkeeper is facing fierce competitiveness from supermarkets. 
 C. The small shopkeeper is being faced fierce competitiveness of supermarkets. 
 D. The small shopkeeper has been facing fierce competitiveness from supermarkets. 

79. I / not be / trouble / police / now if / take / your advice / first place.

 
A. I wouldn’t be in trouble with the police now if I had taken your advice in the first place.
 B. I wouldn’t have been in trouble with the police now if I had taken your advice in the first place. 
 C. I wont be in trouble with the police now if I take your advice in the first place. 
 D. I shouldn’t have been in trouble with the police now if I have taken your advice in the first place. 

80. Hardly / I / go back / sleep when / loud noise / woke / up. 

 
A. Hardly had I gone back to sleep when a loud noise woke me up.
 B. Hardly I had gone back to sleep then a loud noise woke me up.
 C. Hardly had I gone back to sleep and did a loud noise wake me up. 
 D. Hardly I had gone back to sleep when a loud noise woke me up. 
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(80 multiple choice sentences- Time allowance is 90 minutes)

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the blanks from 1 to 10. 
The warming of the Pacific Ocean has created weather patterns (1)______ strongly affect the world. When the water is warm, the (2)______ of rainfall in Indonesia and the surrounding regions decreases. Australia could (3)______ experience a drought in many parts. On (4)______ hand, Chile (which borders the Pacific Ocean) is preparing for (5)______ rainstorms. In Pakistan and northwestern India, the weather pattern makes the rainy season weaker and makes the area much drier. This happening is called El Nino and is used (6)______ weather forecasters to make long-range weather predictions. They also know that El Nino will (7)______ unusually heavy rains to the southwestern part of the United States and make the central part of the country drier at the same time. According to research, weather forecasters (8)______ know about the coming weather with certainty. Now everything has become completely different. El Nino itself used to be (9)______. It would occur every two to seven years. But now, this weather pattern is becoming more frequent. We cannot say when and how often tornadoes or cyclones(lốc xoáy) occur. Scientists are unsure of the reason for this (10)______ on a global scale either. 

Question 1: A. that 


B. what 

C. when 

D. whether 

Question 2: A. amount 

B. figure 

C. number 

D. deal 

Question 3: A. even 


B. ever 

C. nevertheless 
D. however 

Question 4: A. others 

B. other 

C. the other 

D. another 

Question 5: A. severe 

B. cruel 

C. strict 

D. angry 

Question 6: A. on 


B. by 


C. to 


D. at 

Question 7: A. carry 


B. fetch 

C. bring 

D. take 

Question 8: A. used to 

B. get used to 

C. are used to 

D. used to be 

Question 9: A. notable 

B. remarkable 

C. predictable 
D. incredible 

Question 10: A. change 

B. transfer 

C. transformation 
D. shift 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 11: ______ entering the hall, he found everyone waiting for him. 

A. On 



B. At 


C. With 

D. Of 

Question 12: That pipe ______ for ages - we must get it mended. 

A. has been leaking 

B. is leaking 

C. had been leaking 
D. leaks 

Question 13: - “Is it all right if I use your bike?” 
- “______” 

A. I don’t care. 


B. Sure, go ahead. 
C. Oh, forget it. 
D. I accept it. 

Question 14: You need more exercise - you should ______ jogging. 

A. try on 


B. take up 

C. carry out 

D. hold up 

Question 15: - “You look nervous! ______” 
- “This thunder scares me to death.” 

A. How are you? 

B. Why’s that? 

C. Come on! 

D. What’s wrong? 

Question 16: Car crashes are almost always accidental, but on rare occasions they may be ______. 

A. deliberate 


B. determined 

C. aware 

D. meant 

Question 17: - “Today’s my 20th birthday.” 
- “______” 

A. Take care! 


B. Many happy returns! C. Have a good time! 
D. I don’t understand. 

Question 18: The car had a(n) ______ tyre, so we had to change the wheel. 

A. bent 



B. flat 


C. cracked 

D. injured 

Question 19: There’s little ______ of foreign news in today’s paper. 

A. information 


B. coverage 

C. column 

D. article 

Question 20: You should make a(n) ______ to overcome this problem. 

A. trial 



B. impression 

C. effort 

D. apology 

Question 21: Don’t touch that wire or you’ll get an electric ______. 

A. shock 


B. fire 


C. charge 

D. current 

Question 22: “Can you ______ me a favor, Bill?” Peter said. 

A. make 


B. get 


C. put 


D. do 

Question 23: My brother ______ his driving test when he was 18. 

A. has passed 


B. passes 

C. was passing 

D. passed 

Question 24: - “Would you like beer or wine?” 
- “______” 

A. No, I've no choice. 
B. I couldn’t agree more. C. I'd prefer beer, please. D. Yes, I'd love to. 

Question 25: If you don’t know when that important football match takes place, look it ______ in the World Cup timetable. 
A. after 

B. up 


C. into 


D. out 

Question 26: Thanks to my friends’ ______ remarks, my essays have been improved. 

A. constructive 

B. construction 

C. constructor 

D. construct 

Question 27: You look tired. Why don't we ______ and have a good rest? 

A. call its name 


B. call on 

C. call off 

D. call it a day 

Question 28: The manager ______ him for a minor mistake. 

A. accused 


B. charged 

C. complained 

D. blamed 

Question 29: I ______ hurry. It’s nearly 8.00, and my first class starts at 8.15. 

A. would prefer 

B. can’t help 

C. would rather 
D. had better 

Question 30: He managed to keep his job ______ the manager had threatened to sack him. 

A. although 


B. despite 

C. unless 

D. therefore 

Question 31: I clearly remember ______ you about this before. 

A. telling 


B. to tell 

C. told 


D. tell 

Question 32: - “______” 
- “He's tall and thin with blue eyes.” 

A. What does John like? B. How is John? C. Who does John look like? D. What does John look like? 

Question 33: Why is everybody ______ him all the time? 

A. critical 


B. criticize 

C. criticism 

D. criticizing 

Question 34: We didn’t go to the zoo yesterday ______ the heavy rain. 

A. because of 


B. in spite of 

C. so 


D. because 

Question 35: She ______ me a very charming compliment on my painting. 

A. showed 


B. paid 

C. made 

D. took 

Question 36: ______ stamps, my brother collects coins. 

A. Except 


B. Besides 

C. Near 

D. Beside 

Question 37: You shouldn't have criticized him in front of the class. It was extremely ______ of you. 

A. sensible 


B. insensitive 

C. insensible 

D. sensitive 

Question 38: There were some rainy days, but it was a nice holiday ______. 

A. by no means 


B. by all means 

C. in particular 
D. in general 

Question 39: I'm really looking forward ______ to university. 

A. to going 


B. go 


C. to go 

D. going 

Question 40: All of us won't go camping ______ the weather stays fine. 

A. however 


B. but 


C. unless 

D. so 

Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. 
Question 41: He climbed the tree ______ before the wind blew them off. 

A. in order that to pick the apples 


B. so as to pick the apples 

C. so that to pick the apples 



D. in order for the apples to pick 

Question 42: ______ but he also proved himself a good athlete. 

A. Not only he showed himself a good student 
B. He did not show himself only a good student 

C. Not only did he show himself a good student 
D. A good student not only showed him 

Question 43: The new manager explained ______ new procedures to save time and money. 

A. with the staff that he hoped to establish 

B. to the staff that he hopes to establish 

C. to the staff that he hoped to establish 

D. with the staff that he hopes to establish 

Question 44: When reaching the top of the hill, ______. 

A. we suddenly caught sight of the sea 

B. it was the sea that extended below us 

C. we extended the sea below us 


D. the sea came into view 

Question 45: Yesterday my mother bought ______. 

A. beautiful Italian some cotton hats 


B. Italian some beautiful cotton hats 

C. some beautiful Italian cotton hats 


D. some hats beautiful Italian cotton 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions. 
Question 46: A. tennis 


B. into 


C. between 

D. country 

Question 47: A. difficulty 

B. simplicity 

C. discovery 

D. commodity 

Question 48: A. traditional 

B. residential 

C. expectation 

D. competition 

Question 49: A. command 

B. secure 

C. pretend 

D. leisure 

Question 50: A. family 


B. attractive 

C. marvelous 

D. industry 

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 51: Each of the beautiful cars in the shop was quickly sold to their owner. 

                  A                           B                                C                   D 

Question 52: It was a six-hours journey; we were completely exhausted when we arrived. 

                                        A                                                  B                                 C D 

Question 53: Being that he was a good swimmer, John managed to rescue the child. 

                                        A                              B                                      C            D 

Question 54: I’d like to see him in my office the moment he will arrive. 

                                          A        B           C                                D 

Question 55: Professor Jones said that a good way to improve your language are learning to practise it.

                                                   A                                   B                                   C                       D 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 56 to 65. 
For more than six million American children, coming home after school means coming back to an empty house. Some deal with the situation by watching TV. Some may hide. But all of them have something in common. They spend part of each day alone. They are called “latchkey(tự giải phóng) children”. They are children who look after themselves while their parents work. And their bad condition has become a subject of concern. Lynette Long was once the principal of an elementary school. She said, “We had a school rule against wearing jewelry. A lot of kids had chains around their necks with keys attached. I was constantly telling them to put the keys inside shirts. There were so many keys; it never came to my mind what they meant.” Slowly, she learned that they were house keys. She and her husband began talking to the children who had keys. They learned of the effect working couples and single parents were having on their children. Fear was the biggest problem faced by children at home alone. One in three latchkey children the Longs talked to reported being frightened. Many had nightmares and were worried about their own safety. The most common way latchkey children deal with their fears is by hiding. They may hide in a shower stall, under a bed or in a closet. The second is TV. They often turn the volume up. It’s hard to get statistics on latchkey children, the Longs have learned. Most parents are slow to admit that they leave their children alone. 

Question 56: The phrase “an empty house” in the passage mostly means ______. 

A. a house with no people inside 

B. a house with no furniture 

C. a house with nothing inside 


D. a house with too much space 

Question 57: One thing that the children in the passage share is that ______. 

A. they all watch TV 



B. they spend part of each day alone 

C. they are from single-parent families 

D. they all wear jewelry 

Question 58: The phrase “latchkey children” in the passage means children who ______. 

A. close doors with keys and watch TV by themselves 

B. like to carry latches and keys with them everywhere 

C. are locked inside houses with latches and keys 

D. look after themselves while their parents are not at home 

Question 59: The main problem of latchkey children is that they ______. 

A. are also found in middle-class families 
B. watch too much television during the day 

C. suffer a lot from being left alone 

D. are growing in numbers 

Question 60: What is the main idea of the first paragraph? 

A. How kids spend free time. 


B. Why kids hate going home. 

C. Bad condition of latchkey children. 

D. Children’s activities at home. 

Question 61: Why did a lot of kids have chains around their necks with keys attached? 

A. They had to use the keys to open school doors. 

B. Schools didn’t allow them to wear jewelry, so they wore keys instead. 

C. They were fully grown and had become independent. 

D. They would use the keys to enter their houses when they came home. 

Question 62: What do latchkey children suffer most from when they are at home alone? 

A. Fear. 

B. Tiredness. 


C. Boredom. 

D. Loneliness. 

Question 63: Lynette Long learned of latchkey children’s problems by ______. 

A. visiting their homes 



B. delivering questionnaires 

C. interviewing their parents 


D. talking to them 

Question 64: What is the most common way for latchkey children to deal with fears? 

A. Hiding somewhere. B. Talking to the Longs. C. Having a shower. D. Lying under a TV. 

Question 65: It’s difficult to find out the number of latchkey children because ______. 

A. most parents are reluctant to admit that they leave their children alone 

B. they do not give information about themselves for safety reasons 

C. they hide themselves in shower stalls or under beds 

D. there are too many of them in the whole country

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 
Question 66: “Be careful! Don't do that again,” he said. 

A. He encouraged me to do that again. 

B. He advised me to be careful and do that again. 

C. He warned me not to do that again. 

D. He told me to be careful, so I didn't do that again. 

Question 67: It is a basic requirement in the modern world to be able to deal with figures. 

A. Being able to deal with figures is a basic requirement in the modern world. 

B. Dealing with the modern world requires a basic knowledge of figures. 

C. The world requires us to have a basic understanding of figures. 

D. Dealing with figures requires a basic knowledge of the modern world. 

Question 68: Their chances of success are small. 

A. They will certainly be successful. 


B. It’s possible that they will achieve success. 

C. They have no chances of being successful. 

D. It’s not very likely that they will succeed. 

Question 69: The way to get the best out of me is to make me work very hard. 

   A. My work is under consideration, so I do my best. 

B. If you make me work hard, I can't get the best. 

   C. Don't make me work hard or I can’t make the best out of me. D. I work best when I am under pressure. 

Question 70: I found myself at a loss to understand my closest friend’s words. 

A. I found my closest friend's words easy to understand. 

B. I understood my closest friend’s words completely. 

C. I lost heart and didn't understand my closest friend's words. 

D. I found my closest friend's words quite incomprehensible. 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 71 to 80. 
It is commonly believed that school is where people go to get an education. Nevertheless, it has been said that today children interrupt their education to go to school. The difference between schooling and education implied by this remark is important. Education is much more open-ended and all-inclusive(gồm) than schooling. Education knows no limits. It can take place anywhere, whether in the shower or on the job, whether in the kitchen or on a tractor. It includes both the formal learning that takes place in school and the whole universe of informal learning. The agent (doer) of education can vary from respected grandparents to the people arguing about politics on the radio, from a child to a famous scientist. Whereas schooling has a certain predictability, education quite often produces surprises. A chance conversation with a stranger may lead a person to discover how little is known of other religions. People receive education from infancy on. Education, then, is a very broad, inclusive term; it is a lifelong process, a process that starts long before the start of school, and one that should be a necessary part of one’s entire life. Schooling, on the other hand, is a specific, formalized process, whose general pattern varies little from one setting to the next. Throughout a country, children arrive at school at about the same time, take the assigned seats, are taught by an adult, use similar textbooks, do homework, take exams, and so on. The pieces of reality that are to be learned, whether they are the alphabet or an understanding of the workings of governments, have been limited by the subjects being taught. For example, high school students know that they are not likely to find out in their classes the truth about political problems in their society or what the newest filmmakers are experimenting with. There are clear and undoubted conditions surrounding the formalized process of schooling. 

Question 71: This passage is mainly aimed at ______. 

      A. giving examples of different schools B. telling the difference between the meaning of two related words 

     C. listing and discussing several educational problems  D. telling a story about excellent teachers 

Question 72: In the passage, the expression “children interrupt their education to go to school” mostly implies that ______. A. education is totally ruined by schooling 
B. all of life is an education 

C. schooling takes place everywhere 

D. schooling prevents people discovering things 

Question 73: The word “all-inclusive” in the passage mostly means ______. 

A. going in many directions 


B. involving many school subjects 

C. allowing no exceptions 


D. including everything or everyone 

Question 74: According to the passage, the doers of education are ______. 

A. mostly famous scientists 


B. mainly politicians 

C. only respected grandparents 


D. almost all people 

Question 75: What does the writer mean by saying “education quite often produces surprises”? 

      A. Educators often produce surprises. 

B. It’s surprising that we know little about other religions. 

      C. Success of informal learning is predictable.   
D. Informal learning often brings about unexpected results. 

Question 76: Which of the following would the writer support? 

A. Without formal education, people won’t be able to read and write. 

B. Schooling is of no use because students do similar things every day. 

C. Our education system needs to be changed as soon as possible. 

D. Going to school is only part of how people become educated. 

Question 77: The word "they" in the last paragraph refers to ______. 

A. workings of governments B. political problems C. newest filmmakers D. high school students 

Question 78: Because the general pattern of schooling varies little from one setting to the next, school children throughout the country ______. A. do similar things 
B. have the same abilities 

C. are taught by the same teachers 

D. have similar study conditions 

Question 79: From the passage, we can infer that a high school teacher ______. 

A. is free to choose anything to teach 

B. is not allowed to teach political issues 

C. has to teach social issues to all classes

D. is bound to teach programmed subjects 

Question 80: Which of the following is TRUE according to the passage? 

A. The more years students go to school, the better their education is. 

B. The best schools teach a variety of subjects. 

C. Education and schooling are quite different experience. 

D. Students benefit from schools, which require long hours and homework.

	Department of Education and Training Examination subject: English-Group D   
	The university and college practice exam 2012.

 The fourth  time             


(80 multiple choice questions- Time allowance is 90 minutes)

Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.
Question 1: The flag is risen at 6.30 every morning without fail.  
  A. without fail

B. at 


C. every morning
D. is risen
Question 2: Bees collect pollen, which furnishes protein for its diet.

A. collect


B. which

C. furnishes

D. its

Question 3: All of the mammals, dolphins are undoubtedly among the friendly to human.

A. All of
B. friendly

C. among

D. undoubtedly

Question 4: Physicists are scientists whose study matter and energy, as well as their patterns of interaction.

A. Physicists
B. whose study
C. as well as

D. of

Question 5: The removal of waste materials is essential to all forms of live.

A. Of

B. materials

C. essential to

D. live

Mark the letter A, B,C or D o your answer sheet to indicate the best way to complete each of the following sentence.

Question 6: ______________, I was pleased it was over.

A. Strange though it may sound

B. Despite it may sound strange

C. Though strange it was


D. Even though being very strange

Question 7: If you want to travel in July,​​​​​​​​​​​​​​​​​__________________________________________

A. I’ll advise buying your tickets well in advance.

B.  I’ll advise you buying your tickets well in advance.

C. I’ll advise you buy your tickets well in advance.

D. Your tickets will be advised buying well in advance.

Question 8: ___________________________that many hospitals wanted his service.

A. He was such a doctor good.

B.  He was so good a doctor

C. He was so good doctor

D. He was such good doctor

Question 9: __________________________, he took his seat quietly.

A. So as to not disturb our conversation

B. So that not disturbing our conversation

C. Not to disturb our conversation

D. In order not to disturb our conversation

Question 10: Jack went to the party, wearing a_______________tie.

A. lovely red woolen bow

C. red lovely woolen bow

B. woolen lovely red bow

D. lovely red bow woolen

Mark the letter A, B,C or D o your answer sheet to indicate the sentence which has the same meaning as the original one.

Question 11: I wish I had chosen English to study at school.
A. The speaker regrets not choosing English to study at school.

B. The speaker is not studying English.

C. The speaker studied English and now regrets doing so.

D. The speaker regrets having chosen English to study.

Question 12: “You should have finished the report by now” John told his secretary.

A. John said that his secretary hadn’t finished the report.

B. John reproached his secretary for not having finished the report 

C. John reminded his secretary of finishing the report on time.

D. John scolded his secretary for not having finished the report.

Question 13: Mrs. Jones told me that her neighbors were moving to Florida.

A. I knew that Mrs. Jones had moved to Florida because her neighbors told me.
B. Mrs. Jones planning to move to Florida with her neighbors.
C.  “My neighbors are moving Florida.” said Mrs. Jones.
D. Mrs. Jones and her neighbors live in Florida.
Question 14: There’s no point in persuading him to do this. 

A. He is able to do this although he does not want to.
B. It would be useful to persuade him.
C. I enjoy persuading him to do this 

D. It is useless to persuade him to do this.
Question 15: It was said that he had escaped from the prison alone.

A. He was said to escape from the prison lonely.

B. He was said to be escaped from the prison alone.

C. He was said to have been escaped from the prison alone.

D. He was said to have escaped from the prison alone.

Pick out the word that has the stress pattern different from that of the other words.

Question 16: A. allergy 

B. horrible

C. generous 

D. electric

Question 17: A. mediocre

B. academic 

C. environment
D. opportunist 

Question 18: A. temperament
B. resurrect

C. salary

D. badminton

Question 19: A. altitude

B. engineer 

C. Portuguese

D. referee

Question 20: A. cathedral 

B. satellite 

C. gallery 

D. different

Choose the most appropriate answer from A, B, C or D.

Question 21: The process of finding somebody / something, or learning about something that was not known about before is called a /an ______.

A. finding 


B. experiment 

C. discovery

D. development

Question 22: When you ______food, you chance it into substances that your body can use.

A. cure


B. digest

C. invent

D. fee

Question 23: A force of attraction that causes objects to move towards each other is called ______.

A. electricity

B. evolution

C. gravitation
     
 D. invention

Choose the most suitable answer from the four options marked A, B, C, or D to complete each of the numbered gaps in the passage below. Write your answers on the answer sheet. 

              The next generation of telephone users will probably laugh (24) _________we explain how we used to stand next to a wall in the kitchen to (25) ______a phone call. Mobile communications, already highly advanced compared with a decade ago, will completely change communications in the next few years. (26) _____ there are millions of people using mobile phones, most people know (27) __________about the mobile telecommunications industry and its technology.

             There are three types of mobile phone. These are hand portables, pocket-sized hand portables and transportables. The smallest and most popular are the pocket-sized hand portables. These work on rechargeable batteries, which allow an (28) ___________of up to 80 minutes conversation. Mobiles that are fitted permanently in a vehicle do not (29) _______ on separate batteries. They require and external aerial on the vehicle. This can mean a stronger signal with clearer (30) ______. Transportables have a high power capability and can be used (31) _____ anywhere. They come with powerful battery packs for longer, continuous use and may also be put (32) __________ a vehicle, using its electrics. They (33) ________ to be bulkier than hand portables.

Question 24: A. whether
B. when
C. while
D. unless

Question 25: A. make
B. give
C. take
D. do

Question 26: A. Although
B. Because
C. As a result
D. In addition

Question 27: A.few
B. some
C. lots
D. little

Question 28: A. account
B. amount
C. activity
D. average

Question 29: A. carry
B. create
C. rely
D. insist

Question 30: A. wave
B. letter
C. speech
D. speed

Question 31: A. mostly
B. hardly
C. most
D. almost

Question 32: A. on with
B. into
C. up with
D. into

Question 33: A. used
B. have
C. tend
D. are

Read the passage and mark the letter A, B, C or D on your answer sheet to complete the sentences or answer the questions.

      The Sun today is a yellow dwarf star. It is fueled by the thermonuclear reactions near its center that convert hydrogen to helium. The sun has existed in its present state for about four billion six hundred million years and is thousands of times larger than earth. 

      By studying the other stars, astronomers can predict what the rest of the sun’s life will be like. About five billion years from now, the core of the sun will shrink and become hotter. The surface temperature will fall. The higher temperature of center will increase the rate of thermonuclear reactions. The outer regions of the sun will expand approximately 35 million miles, about the distance to Mercury, which is closest planet to the sun. The sun will then be a red giant star. Temperatures on the Earth will become too high for life to exist.

     Once the sun has used up its thermonuclear energy as a red giant, it will begin to shrink. After it shrinks to the size of the earth, it will become a white dwarf star. The sun may throw off huge amounts of gases in violent eruptions called nova explosions as it changes from a red giant to a white dwarf. 

     After billions of years as a white dwarf, the sun will have used up all its fuel and will have lost its heat. Such a star is called a black dwarf. After the sun has become a black dwarf, the earth will be dark and cold. If any atmosphere remains there, it will have frozen over the earth’s surface.

Question 34: It can be inferred from the passage that the sun____________

A. is rapidly changing in size and brightness. .
B. will continue to be a yellow dwarf for another 10 billion years.

C. has been existence for 10 billion years

D. is approximately halfway through its life as a yellow dwarf.

Question 35: What will probaly be the first stage of change for the sun to become the red giant?

A. It will throw off huge amounts of gases.

B. Its surface will become too hot for life to exist.

C. Its central part will grow smaller and hotter.

D. Its core will cool off and use less fuel.

Question 36: When the sun becomes a red giant, what will the atmosphere be like on the earth?

A.It will be enveloped in the expanding surface of the sun.

B. It will become too hot for life to exist. 

C. It will freeze and become solid.

D. It will be almost destroyed by nova explosions

Question 37: When the sun used up its energy as a red giant, it will_____________

A. become smaller
B. stop to expand
C. get frozen
D. cease to exist

Question 38: Large amounts of gases may be released from the Sun at the end of its life as a___________________

A.red giant
B. white dwarf
C. yellow dwarf
D. black dwarf

Question 39: As a white dwarf, the sun will be________

A. a cool and habitable planet 

B. the same size as the planet Mercury.

C. around 35 million miles in diameter.

D. thousands of times smaller than it is today.

Question 40: The sun will be a black dwarf when___________________

A. the sun moves near to the earth

B. the outer regions of the sun expand

C. it has used up all its fuel as a white dwarf 

D. the core of the sun becomes hotter

Question 41: The word “there” in the last sentence of paragraph 4 refers to____________

A.the planet Mercury            
 B. our own planet

C. the core of a black dwarf
D. the outer surface of the sun

Question 42: The passage intended to________________________

A.discuss conditions on the earth in the far future

B. describe the changes that the sun will go through

C. present a theory about red giant stars

D. alert people to the dangers posed by the sun

Question 43: The passage has probaly been taken from _________

A.a news report

B. a work of science fiction

C. a scientific chronicle
D. a scientific journal

Read the passage and mark the letter A, B, C or D on your answer sheet to complete the sentences or answer the questions.


Today’s cars are smaller, safer, cleaner and more economical than their predecessors, but the car of the future will be far more pollution-free than those on the road today. Several new types of automobile engines have already been developed that run on alternative sources of power, such as electricity, compressed natural gas, methanol, steam, hydrogen, propane. Electricity, however, is the only zero-emission option presently available.


Although electric vehicles will not be truly practical until a powerful, compact battery or another dependable source of current is available, transportation expects foresee a new assortment of electric vehicles entering everyday life: shorter-range commuter electric cars, three-wheeled neighborhood cars, electric deliver vans, bikes, and trolleys.


As automakers work to develop practical electric vehicles, urban planners and utility engineers are focusing on infrastructure systems to support and make the best use of the new cars. Public charging facilities will need to be as common as today’s gas stations. Public parking spots on the street or in commercial lots will need to be equipped with devices that allow drivers to charge their batteries while they stop, dine, or attend a concert. To encourage the use of electric vehicles, the most convenient parking in transportation centers might be reserved for electric cars.


Planners foresee electric shuttle buses, trains and neighborhood vehicles all meeting at transit centers that would have facilities for charging and renting. Commuters will be able to rent a variety of electric cars to suit their needs: light trucks, one-person three-wheelers, small cars, or electric/gasoline hybrid cars for longer trips, which is no doubt take place on automated freeways capable of handling five times number of vehicles that can be carried by a freeway today.

Question 44: The following electric vehicles are all mentioned in the passage EXCEPT: 

A. planes

B. trains

C. vans

D. trolleys

Question 45: The author’s purpose in the passage is to______________

A. criticize conventional vehicles.

B. describe the possibilities for transportation in the future.

C. support the invention of electric cars.

D. narrate a story about alternative energy vehicles.

Question 46: The passage would most likely be followed by details about____________

A. automated freeways.

B. the neighborhood of the future

C. pollution restrictation in the future.

D. electric shuttle buses.

Question 47: The word “compact” in the second paragraph is closest meaning to___________-

A. long-range

B. concentrated
C. inexpensive

D. squared 

Question 48: In the second paragraph the author implies that______________

A. everyday  life will stay such the same in the future .

B. electric vehicles are not practical for the future.

C. a dependable source of electric energy will eventually be developed

D. a single electric vehicle will eventually replace several modern transportation  

Question 49: According to the passage, public parking lots in the future will be____________

A. more convenient than they are today.

B. as common as today’s gas stations

C. much larger than they are today.

D. equipped with charging devices.

Question 50: The word “charging” in this passage refer to________________

A. parking

B. credit cards

C. electricity

D. lightening
 

Question 51: It can be inferred from the passage that____________-

A. The present cars are more economical than their future generation.

B. The present electric engines are the best option as being practical.

C. Electricity is the best alternative source of power as it is almost free of pollution.

D. Many new types of practical electric engines have been developed. 

Question 52: The word “hybrid” in paragraph 4 is closest meaning to________ 

A. automated

B. combination

C. futuristic

D. hazardous

Question 53: The word “commuters” in paragraph 4 refer to_________

A. cab drivers

B. visitors

C. daily travelers 
D. shoppers

Mark the letter A, B, C or D on your answer sheet to indicate the word or phrase is closest meaning to the underlined part in each of following sentences.

Question 54: “Would you like some more to eat?” – “No, thank you. I’ve had more than enough already.

A.
plenty

B. race 

C. pour

D. amount

Question 55: He drives me to the edge because he never stops talking.

A.
steers me 
B. irritates me

C. moves me

D. frightens me

Choose the word or phrase that best completes the sentence.

Question 56: It's quite a long way, isn't it? We ______ about five miles by the time we get back, I'd say.

A. have walked


C. will have walked

B. had walked


D. would have walked

Question 57: You can apply for a better job when you ______ more experience

A.
had had

B. had


C. have had

D. have

Question 58: ______ I leave home ______ the journey is because the buses aren't so crowded.

A. The earlier...the easier 

C. The earlier...the easy

B. The early...the more easy 
D. The early...the most easy

Question 59:  A: “Good morning. My name is Turner. I have a reservation.”

B: “_______”

A. What do you want?



B. Yes, a single room for two nights

C. I haven’t decided yet. What about you?
D. What do you like?

Question 60: If Mathew ______ his alarm clock, he wouldn't have overslept.

A. set 

B. have set


C. had set


D. was setting

Question 61: I decided to stay at home last night. I would have gone out if I ______ so tired.

A. wasn't


B. weren't

C. wouldn’t have been 
D. hadn’t been

Question 62: Why did you stay at a hotel when you went to New York? You ______ with Barbara.

A. could stay 



B. could have stayed

B. can stay 



D. have stayed

Question 63: The bus only stops here to ______passengers.

A. get off 



            B. get on

C. pick up




D. alight

Question 64: She tried to be serious but she couldn't help ______.

A. laughing 



C. that she laughed

B. to laugh 



D. laugh

Question 65: 'Do you know where ______?' 'No, he didn't say.'

A. Tom has gone 


C. has gone Tom

B. has Tom gone 


D. Tom go

Question 66: We gave ______ a meal.

A. at the visitors 


B. the visitors

C. for the visitors 


D. to the visitor

Question 67: The ______ produced at our factory in Scotland.

A. good are 

B. goods is
C. goods are
D. good is

Question 68: Is that my key, or is it ______?

A. the yours

B. you

C. your
D. yours

Question 69: She doesn't live here ______.

A. any longer 
B. some more
C. no more
D. no longer

Question 70: The young man seems very ______.

A. sensibly 

B. sense
C. sensible
D. senses

Question 71: I'm not very good ______ repairing things.

A. at 

B. in

C. for

D. with

Question 72: My boys always postpone ______ things.

A. done 

B. do 

C. to do

D. doing

Question 73: A friend of mine phoned ______ me to a party.

A. invited 



C. so that inviting

B. to invite 


D. for invite

Question 74: He's lazy. He never does ______ work.

A. no

B. any 

C. some

D. none

Question 75: I'll be in London next week. I hope to see Tom ______ there.

A. while I will be 


C. during I will be

B. during I am 


D. while I am

Question 76: When she died, she gave ________ all her money to a charity for cats.

A. away

B. on

C. out


D. off

Question 77: He’s fallen ________ his motorbike and broken his shoulder. 

A. down

B. away


C. out of 
D. off

Question 78: You boy! Don’t walk ________ when I’m speaking to you. 

     A. on

B. to


C. away 
D. out

Question 79: That was the first time I’d gone skiing, so I didn’t think I’d take____________

     A. up it

B. to it


C. it out
D. it over

Question 80:  I can’t help____________sorry for the hungry children. If only there_____________peace in the world!

    A. feeling/is

B. to feel/were

C. to feel/is
D. feeling/were
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	A
	D
	 

	12
	A
	B
	D
	B
	B
	C
	A
	C
	 

	13
	A
	C
	B
	C
	C
	D
	A
	A 
	 

	14
	B
	C
	C
	A 
	D
	B
	C
	C
	 

	15
	C
	D
	A
	A
	D
	C
	D
	C
	 

	16
	D
	D
	C
	D
	D
	D
	B
	D
	 

	17
	C
	B
	D
	C
	C
	A
	A
	B
	 

	18
	B
	A
	C
	D
	B
	B
	D
	A
	 

	19
	A
	C
	A
	B
	A
	C
	A
	A
	 

	20
	A
	D
	B
	A
	A
	A
	D
	D
	 

	21
	C
	A
	C
	D
	B
	B
	A
	A
	 

	22
	C
	D
	D
	A
	B
	B
	C
	A
	 

	23
	D
	A
	C
	D
	C
	C
	D
	C
	 

	24
	D
	B
	A
	A
	B
	D
	B
	C
	 

	25
	A
	C
	B
	C
	A
	B
	B
	D
	 

	26
	A
	D
	B
	D
	A
	C
	C
	D
	 

	27
	D
	A
	C
	B
	D
	A
	A
	A
	 

	28
	B
	A
	D
	C
	D
	D
	C
	C
	 

	29
	B
	C
	A
	A
	C
	C
	C
	B
	 

	30
	B
	C
	C
	B
	C
	D
	D
	C
	 

	31
	A
	B
	B
	C
	D
	A
	D
	D
	 

	32
	A
	B
	C
	D
	B
	A
	A
	C
	 

	33
	C
	D
	D
	A
	C
	A
	C
	B
	 

	34
	A
	D
	D
	C
	D
	A
	A
	A
	 

	35
	B
	A
	A
	D
	C
	D
	A
	D
	 

	36
	D
	B
	D
	B
	B
	B
	B
	A
	 

	37
	B
	C
	B
	B
	A
	C
	C
	A
	 

	38
	C
	D
	D
	D
	A
	D
	D
	B
	 

	39
	B
	D
	C
	D
	D
	C
	C
	B
	 

	40
	B
	C
	A 
	A
	C
	B
	B
	B
	 

	41
	D
	B
	C
	C
	B
	A
	A
	A
	 

	42
	C
	A
	C
	A
	B
	A
	A
	A
	 

	43
	B
	A
	D
	A
	D
	A
	C
	C
	 

	44
	D
	B
	B
	B
	A
	C
	C
	A
	 

	45
	C
	C
	A
	C
	B
	C
	D
	B
	 

	46
	A
	D
	B
	D
	A
	A
	D
	B
	 

	47
	D
	C
	C
	C
	B
	A
	A
	C
	 

	48
	D
	C
	A
	B
	C
	D
	A
	A
	 

	49
	B
	D
	D
	A
	D
	D
	D
	D
	 

	50
	C
	D
	A
	A
	C
	A
	B
	D
	 

	51
	A
	A
	D
	C
	C
	A
	B
	B
	 

	52
	A
	A
	B
	C
	B
	D
	B
	A
	 

	53
	A
	B
	A
	D
	C
	B
	A
	B
	 

	54
	C
	B
	D
	D
	A
	B
	A
	C
	 

	55
	D
	C
	A
	A
	B
	B
	C
	D
	 

	56
	C
	A
	D
	A
	C
	A
	A
	C
	 

	57
	A
	C
	B
	D
	D
	A
	B
	A
	 

	58
	C
	B
	D
	A
	A
	C
	D
	C
	 

	59
	C
	D
	B
	C
	B
	A
	B
	C
	 

	60
	D
	B
	C
	A
	C
	B
	C
	D
	 

	61
	B
	B
	A
	B
	D
	D
	B
	B
	 

	62
	A
	C
	A
	B
	B
	B
	B
	A
	 

	63
	D
	B
	D
	B
	C
	C
	D
	D
	 

	64
	A
	C
	C
	B
	A
	B
	C
	A
	 

	65
	D
	A
	D
	A
	A
	B
	B
	D
	 

	66
	A
	B
	D
	D
	B
	D
	D
	A
	 

	67
	C
	C
	A
	B
	C
	C
	C
	C
	 

	68
	D
	D
	A
	C
	D
	B
	C
	D
	 

	69
	B
	B
	C
	B
	A
	D
	B
	B
	 

	70
	C
	C
	B
	B
	C
	C
	A
	C
	 

	71
	A
	A
	C
	D
	A
	A
	D
	B
	 

	72
	B
	D
	A
	C
	D
	B
	A
	C
	 

	73
	C
	D
	D
	B
	B
	C
	B
	B
	 

	74
	D
	B
	B
	D
	B
	D
	A
	C
	 

	75
	A
	C
	D
	C
	D
	A
	C
	A
	 

	76
	A
	A
	A
	C
	A
	A
	D
	B
	 

	77
	C
	A
	C
	C
	D
	C
	A
	C
	 

	78
	B
	D
	D
	D
	C
	B
	D
	D
	 

	79
	B
	C
	B
	C
	B
	C
	B
	B
	 

	80
	D
	D
	A
	A
	D
	C
	C
	C
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 The fith  time             


(80 multiple choice questions- Time allowance is 90 minutes)

Pick out the word that has the stress pattern different from that of the other words.

1. A. enterprise 

B. prevention


C. fertilize 

D. implement  

2. A. accompany

B. comfortable 

C. interview 

D. dynamism  

3. A. effectiveness 

B. satisfaction


C. accountancy 
D. appropriate      

4. A. secure 


B. oblige 


C. vacant

D. equip  

5. A. representative 

B. characteristic

C. technological 
D. punctuality 
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
6. She …….. on her computer for more than two hours when she decided to stop for a rest.  

A. has worked 

B. has been working  

C. was working 
D. had been working  
7.  It’s nice I am now in London again. This is the second time I ………….there.  

A. will be 


B. would be 


C. was 


D. have been

8. I ……… my Mum by cooking dinner for her.  

A. cheered up


B. looked up 


C. waited for 

D. felt like  

9. “If we can’t afford a car, we’ll just have to …………….one.” 
A. do with 


B. put up with 


C. do without

D. catch up with  

10. …………………………..has she behaved like that before.  

A. Only by 


B. When 


C. For 


D. Never  
11. A good essay must ……..contain enough interesting ideas and specific exam but also have good organization.  

A. in addition 


B. either 


C. not only

D. as well  

12  “You should stop working too hard ………….. you’ll get sick”.

A. or else


B. if  



C. in case 

D. whereas 
13.  Although he was …………… , he agreed to play tennis with me.

A. exhaustion 


B. exhausted


C. exhausting 

D. exhaustive  

14. In order to avoid boredom, the most important thing is to keep on …………...  

A. occupation 


B. occupied


C. occupant 

D. occupational  

15. He carried a(n) ……..........driving license.  

A. artificial 


B. unfaithful  


C. untrue 

D. false

16. As the drug took ……………, the patient became quieter.  

A. effect


B. force 


C. influence 

D. action  
17. -“Do you like the weather here?”       -“I wish it ………………………………….”  

A. doesn’t rain 

B. didn’t rain


C. won’t rain 

D. hadn’t rained  
18. You…………..the washing-up. I could have done it for you.

A. needn’t have done 

B. hadn’t to do 

C. couldn’t have done D. mustn’t have done  

19. “Never say that again,……………?”

A. won’t you


B. do you  


C. don’t you         
D. will you 

20. ……………anything suspicious arise, please let me know at once.

A. Should


B. Would  


C. Can          

D. Did  
21. Tom: “Shall we go out tonight?” 

- Jane: “……………………” 

A. Yes, I can.     

B. Yes, we are.  

C. Yes, we go.          
D. Yes, let’s. 
22. ..........……the weather forecast it will rain heavily later this morning. 

A. On account of       

B. Due to  


C. According to          
D. Because of

23. Many old people don’t like change. They are very set in their  ………………       

A. lives     


B. habits  


C. routines          
D. ways 
24. It took many hours of negotiation to ……………..a compromise.

A. make


B. do



C. reach

D. arrive 

25. They say he inherited his money from a ………………. relative he had never met.
A. faraway       

B. remote 


C. distant

D. slight
26. He found………….to answer all the questions within the time given.
A. that impossible 

B. it impossible

C. it impossibly 
D. that impossibly 

27. According to my………… , we should have enough money for the rest of the month.
A. estimates   


B. calculations


C. suspicions   
D. expectation 
28. The school was closed for a month because of serious ………… of fever.
A. outcome 


B. outburst


C. outbreak

D. outset 

29. .......................his advice, I would never have got a job. 

A. Except 


B. Apart from


C. But for

D. As for 
30. Owing to various advances in modern medicine, certain diseases that were seemingly incurable now 

................ treatment.

A. yield to


B. consist of


C. interfere with 
D. stem from 
31. The police are looking for a man of .......................height. 

A. extra 


B. medium


C. middle 

D. special 

32. The problem needs to be ...................urgently. 

A. addressed


B. dealt


C. thought 

D. cleared 
33. When the body was found, the police ......................a major murder hunt.

A. mounted


B. maintained


C. did   

D. made 
34. Driving in London is supposed to be confusing but I didn’t find it at ................difficult.

A. first 


B. all



C. once 

D. least 

35. Anne: "Make yourself at home". 

- John : "....................." 

A. Yes, Can I help you?   




B. Not at all. Don't mention it.  

C. Thanks! Same to you.       




D. That's very kind. Thank you. 
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions. 
36. Mrs. Stevens, along with her cousins from New Mexico, are planning to attend the festivities. 

                              A            B                                          C                    D 

37. In addition to save on gas, the modern car is designed to save on maintenance expenses. 

                          A              B                              C                         D 

38. Regarding as one of the leading figures in the development of the short story, O. Henry is the author

      A                                     B                                                   C   

of many well – known American favorites. 

                                                  D 

39. The president refuses to accept either of the four new proposals made by the contractors. 

                                        A         B                                C                D 

40. Each of the students in the accounting class has to type their own research paper this semester. 

          A                      

         B                         C                    D

Đọc bài văn sau và chọn đáp án đúng nhất cho các câu hỏi từ 41 đến 50.

Psychologists have debated a long time about whether a child’s upbringing can give it the ability to do outstandingly well. Some think that it is impossible to develop genius and say that it is simply something a person is born with. Others, however, argue that the potential for great achievement can be developed. The truth lies somewhere between these two extremes.  

It seems very obvious that being born with the right qualities from gifted parents will increase a child’s ability to do well. However, this ability will be fully realized only with the right upbringing and opportunities. As one psychologist says, “To have a fast car, you need both a good engine and fuel.” Scientists have recently assessed intelligence, achievement, and ability in 50 sets of identical twins that were separated shortly after birth and brought up by different parents. They found that achievement was based on intelligence, and later influenced by the child’s environment.  

One case involving very intelligent twins was quoted. One of the twins received a normal upbringing, and performed well. The other twin, however, was brought up by extremely supportive parents and given every possible opportunity to develop its abilities. That twin, though starting out with the same degree of intelligence as the other, performed even better.  

This case reflects the general principle of intelligence and ability. The more favorable the environment, the more a child’s intelligence and ability are developed. However, there is no link between intelligence and the socioeconomic level of a child’s family. In other words, it does not matter how poor or how rich a family is, as this does not affect intelligence. 

Gifted people cannot be created by supportive parents, but they can be developed by them. One professor of music said that outstanding musicians usually started two or three years earlier than ordinary performers, often because their parents had recognized their ability. These musicians then needed at least ten years’ hard work and training in order to reach the level they were capable of attaining. 

People who want to have very gifted children are given the following advice:   


  Marry an intelligent person.   


  Allow children to follow their own interests rather  than the interests of the parents.  


  Start a child’s education early but avoid pushing the child too hard.   


  Encourage children to play; for example, playing with musical instruments is essential for a child who wants to become an outstanding musician.

41. The upbringing of highly intelligent children requires _____. 

A. an expensive education




B. good musical instruments  

C. parental support and encouragement  


D. wealthy and loving parents   

42. The word “Others” used in the first paragraph refers to _____.

A. other people          

B. other scientists

C. other children 
D. other geniuses

43. When scientists studied intelligence and ability in twins, they found that _____.  

A. ability depends mainly on intelligence and achievement  

B. intelligence and development are irrelevant to ability  

C. ability depends both on intelligence and on environment 

D. different twins generally have different levels of ability.  

44. Scientists chose twins for their study because _____.

A. each twin has the same environment as his/her twin  

B. they are born into the same family, hence the same upbringing  

C. they have the same economic background and hence the same opportunities  

D. they have the same genetic background, usually with similar intelligence  

45. How were great musicians different from ordinary musicians in their development?  

A. Their ability was realized at an early stage and then nurtured.  

B. They practice playing their instruments for many years.  

C. They concentrated on music to the exclusion of other areas.

D. They were exceptionally intelligent and artistic.  

46. The writer advises that gifted children should be allowed to follow _____.

A. their own interests

B. their parent’s interests 

C. only their interests in musical instruments 

D. only their interests in computer games    

47. When encouraging their gifted children, parents should avoid _____.

A. pushing their children too hard.



B. letting them play their own way  

C. permitting them to follow their own interests       

D. starting their education at an early age 
48. The remark: “To have a fast car, you need both a good engine and fuel.” in the passage means that in order to become a genius, ______.

A. you need to have good health and good nourishment 

B. you need intelligence and you need to develop it  

C. you should try to move quickly and efficiently 

D. you must nourish your brain and train your muscles hard  

49. The word “favorable” in the passage mostly means ____.

A. “good for someone and making him/her likely to be successful”  

B. “helping somebody to be more intelligent compared to other people”  

C. “of high quality or an acceptable standard”                                                                 

D. “under the control or in the power of somebody else”  

50. All of the following statements are true EXCEPT_____.

A. educational development depends completely on economic well-being  

B. a child’s intelligence is influenced by that of his/ her parents  

C. to become successful, a child needs both native intelligence and development  

D. studying different twins is a useful scientific procedure 

Read the following passage, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 70. 
Since the world became industrialized, the number of animal species that have either become extinct or have neared extinction has increased. Bengal tigers, for instance, which once roamed the jungles in vast numbers, now number only about 2,300. By the year 2025, it is estimated that they will become extinct. 

What is alarming about the case of the Bengal tiger is that this extinction will have been caused almost entirely by poachers who, according to some sources, are not always interested in material gain but in personal gratification. This is an example of the callousness that is contributing to the problem of extinction. Animals such as the Bengal tiger, as well as other endangered species, are valuable parts of the world’s ecosystem. International laws protecting these animals must be enacted to ensure their survival - and the survival of our planet. 

Countries around the world have begun to deal with the problem in various ways. Some countries, in  an effort to circumvent the problem, have allocated large amounts of land to animals reserves. They then charge admission prices to help defray the costs of  maintaining the parks, and they often must also depend on world organizations for support. This money enables them to invest in equipment and patrols to protect the animals. Another response to the increase in animal extinction is an international boycott of products made from endangered species. This has had some effect, but by itself it will not prevent animals from being hunted and killed. 

51. What is the main topic of the passage?

A. Endangered species




C. The Bengal tiger
B. Problems with industrialization



D. International boycotts

52. The word “poachers” could be best replaced by which of the following? 

A. Concerned scientists
B. Enterprising researchers
C. Illegal hunters
D. Trained hunters

53. The word “callousness” could be best replaced by which of the following? 

A. incompetence

B. indirectness


C. insensitivity
D. independence

54. The previous passage is divided into two paragraphs in order to contrast: 

A. A comparison and a contrast  



B. A problem and a solution 

C. A statement and an illustration



D. Specific and general information

55. What does the word “this” refer to in the passage? 

A. Bengal tiger




B. Interest in material gain

C. Killing animals for personal satisfaction  

D. The decrease in the Bengal tiger population

56. Where in the passage does the author discuss a cause of extinction?

A. Lines 4-6


B. Lines 7-9


C. Lines 10-16   
D. Lines 1-3
57. Which of the following could best replace the word “allocated”?
A. set aside
     

B. combined


C. taken   

D. organized

58. The word “defray” is closest in meaning to which of the following? 

A. make a payment on
B. make an investment toward
C. raise 
D. lower 



59. What does the term “international boycott” refer to? 

A. A global increase in animal survival 

B. A refusal to buy animal products worldwide 
C. Defraying the cost of maintaining national parks
D. Buying and selling of animal products overseas

60. Which of the following best describes the author’s attitude? 

A. indifferent


B. forgiving


C. concerned

D. surprised

Read the following passage, and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 61 to 70
Any change  in one part of an ecosystem can cause changes  in other parts. Droughts, storms and fires  can change ecosystems. Some changes ___61___ ecosystems. If there is too ___62___ rainfall, plants will not have enough water to live. If a kind of plant dies off, the animals that ___63___ it may also die or move away.  Some changes are good for ecosystems. Some pine forests need ___64___ for the pine trees to reproduce. The seeds are sealed inside pinecones. Heat from a forest fire melts the seal and lets the seeds___65___. Polluting the air, soil, and water can harm ecosystems. Building ___66___ on rivers for  electric power and irrigation can harm ecosystems ___67___ the  rivers. Bulldozing wetlands and cutting down ___68___ destroy ecosystems. Ecologists are working with companies and governments to find better ways of ___69___ fish, cutting down trees, and building dams. They are looking for ways to get  food, lumber, and other products for people ___70___ causing harm to ecosystems.

61. A harms   


B. harmful 


C. harmless 


D. harm

62. A. little


B. a little 


C. few  


D. a few 

63. A. fed 


B. feed 


C. feed on


D. food 

64. A. flame   


B. fires



C. blaze 


D. burning 

65. A. out


B. in   



C. go   



D. fly 

66. A. moats   


B. ditches 


C. bridges 


D. dams

67. A. on 


B. around


C. over 


D. under 

68. A. hills 


B. jungles 


C. forests


D. woods 

69. A. catching

B. holding 


C. carrying 


D. taking 

70. A. avoid   


B. without


C. not   


D. no 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 71. Despite his inexperience in the field, John applied for the job. 
A. John applied for the job because he has experience in the field. 

B. John did not apply for the job because of  his inexperience in the field.

C. John applied for the job even though he had no experience in the field. 

D. John was unable to do the job because he was inexperienced. 

72. Henry should have done his homework last night, but he watched TV instead.

A. Henry did not do his homework last night because he was busy fixing the television set. 

B. Henry watched TV last night instead of doing his homework. 

C. Henry did not watch TV last night because he had to do his homework. 

D. Henry did his homework while watching TV. 

73. He said I wouldn’t like black bread , and I soon found out he was right.
A. I tasted the black bread and enjoyed it. 

B. I tasted the bread but couldn’t decide about it. 

C. I tasted the black bread and hated it. 

D. I didn’t taste the bread because he was told not to. 
74. I have never felt better than I do now.
A. I felt better before 




B. I feel well now 
C. I have never felt well. 



D. I have always felt well. 

75. Bill, not his roommate, wrote that paper.
A. Bill wrote the paper without help from his roommate. 

B. Bill’s roommate wrote the paper. 

C. Neither Bill nor his roommate wrote the paper. 

D. Bill wrote the paper with his roommate. 

76. David seems really ill at ease in front of all those people.
A. David feels uncomfortable in front of all those people. 

B. David is easy to be ill because of all those people. 

C. David is ill because he stands in front of all those people. 

D. David feels comfortable in front of all those people. 

77. Hardly are appeals allowed against the council’s decision.
A. The council always allows appeals against its decisions. 

B. It’s too hard for the council to allow appeals against its decisions. 

C. The council rarely allows appeals against its decisions. 

D. Allowing appeals against its decisions is not good. 

78. They arrived too late to get good seats. 
A. They had to stand for the whole show. 

B. Although they were late they found some good seats. 

C. They got good seats some time after they arrived. 

D. When they arrived the good seats were already taken. 

79. After the very salty food we had, we were all dying of thirst.
A. We were very thirsty after having the very salty food. 


B. We all died because we were too thirsty. 
C. The food was not salty enough for us to have. 


D. We all died because there was not enough food. 

80. Nothing but the whole story would satisfy Tim.
A. Tim wouldn’t be satisfied with anything. 

B. Tim insisted on being told the complete story. 
C. On the whole, Tim was satisfied with the story. 
D. Tim wanted to know just the end of the story.

	Department of Education and Training Examination subject: English-Group D   
	The university and college practice exam 2012.

 The sixth  time             


I. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions. 
Question 1: A. bushes 


B. wishes 

C. researches 

D. headaches
Question 2: A. debt 


B. climbing 

C. timber 

D. lamb
Question 3: A. enough 


B. cough 

C. thorough 

D. tough
Question 4: A. apply 


B. maximum 

C. cactus 

D. national 

Question 5: A. funny 


B. rubbish 

C. upper 

D. student 

II. Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 6: Generally, the South of England is as ______ as the North. 

A. flat 


B. less flat 


C. flatter 

D. the flattest 

Question 7: Helen is traveling to Germany tomorrow on her first working trip and she is very excited ____ it. 

A. for 


B. against 


C. about 

D. with 

Question 8: He’d hardly finished doing his homework when you arrived, ______? 

A. didn’t he 

B. had he 


C. would he 

D. hadn’t he 

Question 9: John: “Would you like to have a get-together with us next weekend?”   Mickey: “______.” 

A. No, I won’t 

B. No, I wouldn’t 

C. Yes, let’s 

D. Yes, I’d love to 

Question 10: Had they arrived at the shop earlier, they ______ a better selection of clothes. 

A. will find 

B. would be finding 

C. would have found 
D. will have found 

Question 11: Before you start cooking, you should gather together all the necessary ______. 

A. ingredients 

B. factors 


C. substances 

D. elements 

Question 12: What ______ views do Americans and Asians have about love and marriage? 

A. tradition 

B. traditionally 


C. traditionalism 
D. traditional 

Question 13: I can’t ______ this noise any longer. I’m going to write a letter of complaint about this problem. 

A. put up with 

B. take away from 

C. get back to 

D. make out of 

Question 14: Helen: “Would you rather go to the beach or to the mountains?”     Kim: “______.” 

A. That’s very nice of you 



B. The beach definitely 

C. I’d love to go 




D. Thanks for the mountains 

Question 15: George: “______.” 
Michelle: “Thank you for your compliment.” 

A. You’ve done your work 



B. This is a present for you 

C. I’m glad that you’re well again 


D. You look pretty in this dress 

Question 16: Bill managed to get to the train station himself ______ his leg was broken. 

A. because 

B. because of 


C. in spite of 

D. although 

Question 17: Dr. Smith is the person in ______ I don’t have much confidence. 

A. which 

B. whom 


C. him 


D. that 

Question 18: This director has ______ some famous films but I think this one is the best. 

A. done 

B. conducted 


C. made 

D. composed 

Question 19: He wondered ______ his sister looked like, because they hadn’t seen each other for a long time. 

A. why 


B. which 


C. how 


D. what 

Question 20: Does Mr. Ba bring his farm ______ to the local market every day? 

A. productivity 

B. product 


C. production 

D. produce 

Question 21: This is ______ the most difficult job I’ve ever had to do. 

A. by heart 

B. by chance 


C. by far 

D. by myself 

Question 22: Hurry up, or they ______ serving meals by the time we get to the restaurant. 

A. stopped 

B. will have stopped 

C. are stopping 

D. would stop 

Question 23: During the Enlightenment, the powers and uses of reason ______. 

A. were stressed 
B. stressed 


C. were stressing 
D. had stressed 

Question 24: He is a typical ______, always looking on the bright side of everything. 

A. pessimist 

B. introvert 


C. extrovert 

D. optimist 

Question 25: That style of dress ___ have been designed by Titian, because it wasn’t worn till after his death. 

A. wouldn’t 

B. shan’t 


C. can’t 

D. oughtn’t 

Question 26: Bottles of medicine must have childproof caps ______ children think medicine is candy and poison themselves. A. even though 
B. if so 



C. so that 

D. in case 

Question 27: My favorite team ___ 15 games so far this season, and will probably win the championship. 

A. are winning 

B. won 



C. have won 

D. will win 

Question 28: You should have ______ your composition carefully before you handed it in. 

A. seen through 
B. thought of 


C. looked in 

D. gone over 

Question 29: “Don’t worry about your necklace. Give it to me and I promise to ______ great care of it.” 

A. bring 

B. take 



C. keep 

D. make 

Question 30: The police are going to look ______ the disappearance of the child. 

A. around 

B. into 



C. through 

D. after 

III. Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions. 
Question 31: The crew divided the life preservers among the twenty terrified passengers as the ship began to sink. 
A. exhausted 

B. surprised 


C. frightened 

D. excited 

Question 32: You must answer the police’s questions truthfully; otherwise, you will get into trouble. 

A. exactly as things really happen 


B. with a negative attitude 

C. in a harmful way 




D. as trustingly as you can 

Question 33: My mom is always bad-tempered when I leave my room untidy. 

A. feeling embarrassed 




B. talking too much 

C. very happy and satisfied 



D. easily annoyed or irritated 

Question 34: During the earthquake, a lot of buildings collapsed, which killed thousands of people. 

A. went off accidentally 



B. fell down unexpectedly 

C. exploded suddenly 




D. erupted violently 

Question 35: We really appreciate your help, without which we couldn’t have got our task done in time. 

A. feel thankful for 

B. depreciate 

C. require 

D. are proud of 

IV. Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions. 
Question 36: The bigger of the three daily meals for most American families is dinner, served at about 6.

                    A                                              B                                          C               D 

Question 37: The word “scuba” is actually an acronym that comes of the phrase “self-contained underwater

                            A                            B                                         C                                  D 

breathing apparatus”. 

Question 38: Building thousands of years ago, the ancient palace is popular with modern tourists. 

                           A                                          B      C                                   D 

Question 39: The old woman cannot remember the place which she kept her savings. 

                            A                                   B                            C             D 

Question 40: I found my new contact lenses strangely at first, but I got used to them in the end. 

                                          A                                 B                                 C                            D 

V. Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 41: ______ for breakfast is bread and eggs. 

A. That I only like 
B. Which better I like 

C. What I like most 
D. The food what I like 

Question 42: Before he was 20, he developed ______ for the personal computer. 

A. the world first computer's language 
B. the computer language for the first world 

C. the world's first computer language 
D. the first world's computer language 

Question 43: According to the conditions of my scholarship, after graduation, ______. 

A. I will be employed full-time by the university 
B. I would be offered by the university 

C. the university will employ me full-time 

D. an employer will give me a full-time job 

Question 44: He has been to the school library many times ______. 

A. if the semester has started 

B. while the semester is starting 

C. since the semester started 

D. after the semester starts 

Question 45: Only after food has been dried or canned ______. 

A. should it be stored for later consumption 

B. it can be stored for later consumption 

C. that it is stored for later consumption 


D. was it stored for later consumption 

VI. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 
Question 46: The test we did last time was more difficult than this one. 

A. We did an easy test last time and a difficult one this time. 

B. This test is not as difficult as the one we did last time. 

C. This time we have to do the most difficult test of all. 

D. The test we have done this time is not difficult at all. 

Question 47: He cannot practice scuba diving because he has a weak heart. 

A. The fact that he has a weak heart cannot stop him practicing scuba diving. 

B. Scuba diving makes him suffer from having a weak heart. 

C. The reason why he cannot practice scuba diving is that he has a weak heart. 

D. He has a weak heart but he continues to practice scuba diving. 

Question 48: She asked John to repeat what he had said. 

     A. “Will you please repeat what John said?” she asked. B. “Please repeat what you said, John,” she said. 
     C. “You have to repeat what you say, John,” she said.   D. “Please repeat what you said to John,” she said. 

Question 49: People believe that neither side wanted war. 

A. Neither side is believed to have wanted war. B. Neither side is responsible for the outbreak of war. 

C. War is believed to be wanted by either side.  D. It is believed that war broke out from both sides. 

Question 50: “No, it’s not true. I didn’t steal the money!” Jean said. 

A. Jean refused to steal the money. 


B. Jean did not intend to steal the money. 

C. Jean admitted stealing the money. 

D. Jean denied having stolen the money. 

VII. Read the following passage taken from Microsoft Encarta 2009, and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 51 to 60. 
Schools in the United States have not always had a large number of libraries. As (51)______ as 1958 about half of the public schools in the United States had no libraries at all. The (52)______ of public school libraries increased dramatically when the federal government passed the Elementary and Secondary Education Act of 1965, (53)______ provided funds for school districts to improve their education programs and facilities, including their libraries. (54)______, many educators claim that since the legislation was passed federal spending has not increased sufficiently to meet the rising (55)______ of new library technologies such as computer databases and Internet access. 

Because the federal government provides only limited funds to schools, individual school districts (56)______ on funds from local property taxes to meet the vast majority of public school expenses. Therefore, the libraries of public schools tend to reflect the (57)______ capabilities of the communities in which they are located. Districts in wealthy suburbs often have fully staffed libraries (58)______ abundant resources, spacious facilities, and curricular and instructional support. In (59)______, school districts in many poor areas house their libraries in ordinary classrooms or in small rooms. The libraries in such areas are generally staffed by volunteers, who organize and (60)______ books that are often out-of-date, irrelevant, or damaged. 

Question 51: A. frequently 

B. recently 

C. freshly 

D. newly 

Question 52: A. digit 


B. amount 

C. number 

D. numeral 

Question 53: A. that 


B. who 


C. which 

D. this 

Question 54: A. Otherwise 

B. Therefore 

C. Consequently 
D. Nevertheless 

Question 55: A. fine 


B. fee 


C. cost 


D. sum 

Question 56: A. go 


B. come 

C. rely 


D. stay 

Question 57: A. economical 

B. educational 

C. financial 

D. political 

Question 58: A. for 


B. with 


C. on 


D. by 

Question 59: A. contrast 

B. converse 

C. contrary 

D. conflict 

Question 60: A. maintain 

B. obtain 

C. contain 

D. attain 

VIII. Read the following passage taken from Building skills for the TOEFL iBT – Advanced by Linda Robinson Fellag, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 70. 
MICKEY MANTLE
Mickey Mantle was one of the greatest baseball players of all time. He played for the New York Yankees in their years of glory. From the time Mantle began to play professionally in 1951 to his last year in 1968, baseball was the most popular game in the United States. For many people, Mantle symbolized the hope, prosperity, and confidence of America at that time. 

Mantle was a fast and powerful player, a “switch-hitter” who could bat both right-handed and left-handed. He won game after game, one World Series championship after another, for his team. He was a wonderful athlete, but this alone cannot explain America’s fascination with him. 

Perhaps it was because he was a handsome, red-haired country boy, the son of a poor miner from Oklahoma. His career, from the lead mines of the West to the heights of success and fame, was a fairy-tale version of the American dream. Or perhaps it was because America always loves a “natural”: a person who wins without seeming to try, whose talent appears to come from an inner grace. That was Mickey Mantle. 

But like many celebrities, Mickey Mantle had a private life that was full of problems. He played without complaint despite constant pain from injuries. He lived to fulfill his father’s dreams and drank to forget his father’s early death. 

It was a terrible addiction that finally destroyed his body. It gave him cirrhosis of the liver and accelerated the advance of liver cancer. Even when Mickey Mantle had turned away from his old life and warned young people not to follow his example, the destructive process could not be stopped. Despite a liver transplant operation that had all those who loved and admired him hoping for a recovery, Mickey Mantle died of cancer at the age of 63. 

Question 61: What is the main idea of the passage? 

A. Mickey Mantle’s success and private life full of problems 

B. Mickey Mantle as the greatest baseball player of all time 

C. Mickey Mantle and the history of baseball    D. Mickey Mantle and his career as a baseball player 

Question 62: It can be inferred from paragraph 1 that Mantle ______. 

A. introduced baseball into the US 


B. earned a lot of money from baseball 

C. had to try hard to be a professional player 

D. played for New York Yankees all his life 

Question 63: According to the passage, Mantle could ______. 

        A. bat better with his left hand than with his right hand   
B. hit with the bat on either side of his body 

        C. give the most powerful hit in his team 

   
D. hit the ball to score from a long distance 

Question 64: The word “this” in paragraph 2 refers to ______. 

A. Mantle’s being fascinated by many people 

B. Mantle’s being a wonderful athlete 

C. Mantle’s being a “switch-hitter” 


D. Mantle’s being a fast and powerful player 

Question 65: It can be inferred from the passage that for most Americans ______. 

A. success in Mantle’s career was difficult to believe 

B. Mantle had a lot of difficulty achieving fame and success 

C. success in Mantle’s career was unnatural 

D. Mantle had to be trained hard to become a good player 

Question 66: The author uses the word “But” in paragraph 4 to ______. 

A. explain how Mantle got into trouble     B. give an example of the trouble in Mantle’s private life 

C. change the topic of the passage             D. give an argument in favor of Mantle’s success and fame 

Question 67: The word “fulfill” in paragraph 4 mostly means ______. 

     A. achieve what is hoped for, wished for, or expected   B. do something in the way that you have been told 

     C. do what you have promised or agreed to do              D. get closer to something that you are chasing 

Question 68: The word “accelerated” in paragraph 5 is closest in meaning to ______. 

A. delayed 

B. worsened 


C. bettered 

D. quickened 

Question 69: We can see from paragraph 5 that after his father’s death, Mantle ______. 

A. forgot his father’s dream 
B. suffered a lot of pain   C. led a happier life    D. played even better 

Question 70: Which of the following is mentioned as the main cause of the destruction of Mantle’s body? 

A. His way of life       B. His loneliness               C. His own dream     D. His liver transplant operation 

IX. Read the following passage taken from Cultural Guide – Oxford Advanced Learner’s Dictionary, 7th Edition, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 71 to 80. 
The countryside of Britain is well known for its beauty and many contrasts: its bare mountains and moorland, its lakes, rivers and woods, and its long, often wild coastline. Many of the most beautiful areas are national parks and are protected from development. When British people think of the countryside they think of farmland, as well as open spaces. They imagine cows or sheep in green fields enclosed by hedges or stone walls, and fields of wheat and barley. Most farmland is privately owned but is crossed by a network of public footpaths. 

Many people associate the countryside with peace and relaxation. They spend their free time walking or cycling there, or go to the country for a picnic or a pub lunch. In summer people go to fruit farms and pick strawberries and other fruit. Only a few people who live in the country work on farms. Many commute to work in towns. Many others dream of living in the country, where they believe they would have a better and healthier lifestyle. 

The countryside faces many threats. Some are associated with modern farming practices, and the use of chemicals harmful to plants and wildlife. Land is also needed for new houses. The green belt, an area of land around many cities, is under increasing pressure. Plans to build new roads are strongly opposed by organizations trying to protect the countryside. Protesters set up camps to prevent, or at least delay, the building work. 

America has many areas of wild and beautiful scenery, and there are many areas, especially in the West in states like Montana and Wyoming, where few people live. In the New England states, such as Vermont and New Hampshire, it is common to see small farms surrounded by hills and green areas. In Ohio, Indiana, Illinois and other Midwestern states, fields of corn or wheat reach to the horizon and there are many miles between towns. 

Only about 20% of Americans live outside cities and towns. Life may be difficult for people who live in the country. Services like hospitals and schools may be further away and going shopping can mean driving long distances. Some people even have to drive from their homes to the main road where their mail is left in a box. In spite of the disadvantages, many people who live in the country say that they like the safe, clean, attractive environment. But their children often move to a town or city as soon as they can. 

As in Britain, Americans like to go out to the country at weekends. Some people go on camping or fishing trips, others go hiking in national parks. 

Question 71: We can see from the passage that in the countryside of Britain ______. 

A. none of the areas faces the sea 


B. only a few farms are publicly owned 

C. most beautiful areas are not well preserved 
D. it is difficult to travel from one farm to another 

Question 72: The word “enclosed” in paragraph 1 is closest in meaning to ______. 

A. rotated 

B. embraced 


C. blocked 

D. surrounded 

Question 73: Which is NOT mentioned as an activity of relaxation in the countryside of Britain? 

A. Going swimming 
B. Picking fruit 

C. Going for a walk 
D. Riding a bicycle 

Question 74: What does the word “they” in paragraph 2 refer to? 

A. Those who dream of living in the country 
B. Those who go to fruit farms in summer 

C. Those who go to the country for a picnic 

D. Those who commute to work in towns 

Question 75: Which of the following threatens the countryside in Britain? 

A. Protests against the building work 

B. Modern farming practices 

C. Plants and wildlife 




D. The green belt around cities 

Question 76: The phrase “associated with” in paragraph 3 is closest in meaning to ______. 

A. supported by 
B. referred to 


C. separated from 
D. related to 

Question 77: According to the passage, all of the following are true EXCEPT ______. 

A. the use of chemicals harms the environment of the countryside 

B. camps are set up by protesters to stop the construction work 

C. the green belt is under pressure because of the need for land 

D. all organizations strongly oppose plans for road construction 

Question 78: The phrase “reach to the horizon” in paragraph 4 is closest in meaning to ______. 

A. are limited 

B. are endless 


C. are horizontal 
D. are varied 

Question 79: According to the passage, some Americans choose to live in the country because ______. 

A. their children enjoy country life 
B. they enjoy the safe, clean, attractive environment there 

C. life there may be easier for them 
D. hospitals, schools and shops are conveniently located there 

Question 80: Which of the following is NOT mentioned in the passage? 

A. The majority of American people live in cities and towns. 

B. Many British people think of the country as a place of peace and relaxation. 

C. Towns in some Midwestern states in the US are separated by long distances. 

D. Both British and American people are thinking of moving to the countryside. 
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Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following word. 

Question 1: 
A. committee 

B. referee 

C. employee 

D. refugee

Question 2: 
A. alcohol 

B. comment 

C. chemical 

D. proceed

Question 3: 
A. company

B. atmosphere
C. customer

D. employment

Question 4: 
A. apprehension        
B. preferential     
C. conventional     
D. calculation

Question 5: 
A. satisfactory     
B. alter     
            C. military     

D. generously

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6 : Not until the end of the 19th century ______ become a scientific discipline.


A. plant breeding has 

B. did plant breeding 



C. plant breeding had 

D. has plant breeding

Question 7: 
When friends insist on ______ expensive gifts, it makes most people uncomfortable.

 

A. them to accept
B. they accepting
C. their accepting
D. they accept

Question 8: 
_________ that she burst into tears.
A. Such was angry girl


B. So angry she was
C. She was angry so



D. Her anger was such

Question 9: They always kept on good ______ with their next-door neighbors for the children’s sake.

 

A. will


B. friendship

C. terms

D. relations
Question 10: 
They stayed for hours, ______ my mother was very annoyed about.

A.  that 

B. which 

C. this


D. whom

Question 11: 
The vase is definitely not_______, but just a very good imitation.

      

A. real


B. factual 
           C. genuine

D. true

Question 12: 
I walked away as calmly as I could. __________, they would have thought I was a thief.

A. In case

B. If so

C. Or else

D. Owing to

Question 13: 
Please answer the phone for me. I don't want to speak to ______ it is

A. whoever

B. whatever

C. whenever

D. wherever
Question 14: 
By the time Brown’s daughter graduates, __________ retired.
A. he


B. he has

C. he’ll being

D. he’ll have

Question 15: 
__________the storm, the ship couldn't reach its destination on time.



A.  Because of
B. Incase of

C. In spite of

D. But for

Question 16:  While ________ to help Tim with his math, I got impatient because he wouldn’t pay attention to what I was saying.

A. I am trying

B. having tried
C. I try


D. trying

Question 17: The problem is difficult, therefore ______ students could answer it.

A. a great number of
B. a lot of

C. few


D. a few
Question 18: 
I was in a such hurry that I left one of my bags _________

 


A. out 


B. behind 

C. on


D. aside

Question 19: 
Do you think you can meet the _________  given by our teacher ?. 

A.  deadline  

B. line   

C.  dead   

D face 

Question 20: 
The twins look so much alike that almost no one can____them____

      

 A. take....apart
B. tell....away

C. tell....apart

D. take....on

Question 21: 
Everyone can join our club, _____________  age and sex.



A. not mention
B. in case of

C. in place of

D. regardless of

Question 22: The strike was caused by the_________ of two workers.

A. dismiss

B. dismissing

C. dismissed

D. dismissal

Question 23: Look! The yard is wet. It______ last night.




A. must rain
B. couldn't have rained 
C. must have rained
D. should have rained

Question 24:  There was a terrible storm on the night we first stayed at the campsite but we were alright with our tent and were dry as a ___________.



A. bone

B. cover

C. coat


D. sheet

Question 25: James Cook,______ , also discovered tje Hawaiian Islands.

A. by exploring the South Sea he reached Australia.

B. explored the South Sea and reaching Australia.

C. who explored the South Sea and reached Australia.

D. explored the South Sea then reached Australia.

Question 26: The factory was _________ so the management tried to cut costs by making some workers redundant.

A. competition
B. competitive
C. uncompetitive
D. competed

Question 27: 
'These tablets really are ______. My headache’s much better now.' 

A. affective

B. effective

C. efficient

D. affected
Question 28: 
“I understand you don’t like opera. _____ I go at least once a month.”

         

A. On contrast
B. In contrast           
C. In the contrast
D. On the contrast

Question 29: 
He has always looked _______ his elder brother.
A. up to

B. back on

C. into


D. up and down

Question 30: 
A: Do you mind if we schedule the meeting for 11 o’clock?
B: Well, actually, I __________ earlier
A. will prefer it 



B. would prefer it to be 


C. am preferring 



D. should prefer it will be
Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions or the correct question to each of the following answers .

Question 31: “Would you mind closing the window?” – “______________”

A. Not at all. I will close it now.         
B. Yes, very soon.            

C. Yes, certainly.
           


D. Yes, I would. Go ahead.
Question 32: 
Ellen : "_________________?"       - Tom : "He's tall and thin with blue eyes." 

      

A. What does John look like                     
B. Who does John look like 


      

C. How is John doing                                  
D. What does John like 


Question 33: “Your parents must be proud of your result at school”. – “______________”

A. Sorry to hear that.



C. Of course

B. Thanks. It’s certainly encouraging.
D. I am glad you like it.

Question 34: 
Customer: Can I have a look at that pullover, please?
Salesgirl: “__________.”

A. It's much cheaper



B. Which one? This one? 

C. Sorry, it is out of stock.


D. Can I help you?

Question 35: 
 A: I had a really good weekend at my uncle’s.       B:  “__________.”
      

A. Oh, that’s very nice of you                      B. Congratulations 
      

C. It’s pleasure                                             D. Oh, I’m glad to hear that


Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.

Question 36: 
In very early times, people around the fire were entertained by storytellers with stories of heroes’ victory and wonderful actions .

                                                A                  B                            C    

                  D 
                                

   







                                                      

Question 37: 
When I got home, Irene was lying in bed thinking about the wonderful time she has  had.

                  A                             B                        C 



       D           

Question 38: 
People tend to make a lot of shopping at Xmas time.

                                               A          B                     C             D

Question 39:
Stuart stopped to write his letter because he had to leave for the hospital.

                                                    A                        B                          C                 D     

Question 40: 
A fully grown male mountain lion may be eight long feet. 

                                   A                      B                        C                D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions.

Question 41: 
There were over two hundred people at Carl's trial, most of whom believed that he was not guilty of the crime.
A. Carl had not committed the crime, and so more than 200 people came to his trial to show their support.

B. When it was announced that Carl had been found not guilty of the crime, there were over 200 people in the audience at his trial.

C. Over 200 people coming to Carl’s trial must have influenced the fact that he was not found guilty of the crime.

D. The majority of the more than 200 people at Carl’s trial didn’t think that he had committed the crime.
Question 42: 
Ann had the TV on when her parents entered the room.


A. The TV was on a table in Anne’s room.
B. Anne’s parents told her to turn on the TV.

C. Anne noticed her parents watching TV.
D. Anne’s parents found her watching TV.

Question 43: “You should have finished the report by now.” John told his secretary.

A. John reproached his secretary for not having finished the report.

B. John said that his secretary had not finished the report.

C. John reminded his secretary of finishing the report on time.

D. John scolded to his secretary for not having finished the report.

Question 44: Madeleine wears high heels to look taller.

A. In order to look taller, Madeleine wears high heels.

B. So that to look taller, Madeleine wears high heels.

C. Madeleine wants high heels to make her taller.

D. Madeleine buys high heels to look taller.

Question 45:
Even though some events were cancelled, thousands of people attended the festival.


A. No matter how many people attended the festival, some events were cancelled


B. In spite some cancelled events, thousands of people attended the festival.


C. As some events were cancelled, thousands of people attended the festival.


D. Despite the cancellation of some events, thousands of people attended the festival.

Question 46:
It couldn’t have been Mary that you heard shouting last night, as she is vacationing in Vermont at the moment.
A. I think Mary is on holiday in Vermont now, so you may be wrong in thinking that you heard her yelling last night.

B. Right now, Mary is having a holiday in Vermont, so it is impossible that it was she whose shouting you heard last night.

C. Are you sure it was Mary who shouted to you last night, because, as far as I know, she is on vacation in Vermont at the moment?

D. If it was Mary that you heard yelling last night, then she can’t be taking a vacation in Vermont at the moment.
Question 47:
Both of the lifts were out of order.



A. Either of the lifts was not in right order.
B. The order of the two lifts was wrong
 



C. Neither of the lifts was working.

D. Neither of the lifts was in order. 

Question 48: He was sentenced to six months in prison for his part in the robbery

A. He received a six months in prison for his part in the robbery.

B. He received a six-month sentence for his part in the robbery.

C. For his participation in the robbery, he had been in prison for six months.

D. For his participation in the robbery, a prison had been given to him for six months.

Question 49: 
It is possible that we won't have to take an entrance exam this year.

A. Perhaps we don't have to take an entrance exam this year.

B. We must take an entrance exam this year.

C. We mightn't take an entrance exam this year.

D. It is very likely that we will take an entrance exam this year.

Question 50: The crowd became increasingly angry at the long delay. 



A. The crowd became very angry because the delay was so long. 


B. The more increasingly the crowd became, the longer the delay was. 


C. The longer the delay was, the angrier the crowd became. 


D. The more the crowd became angry at the delay, the longer they feel. 

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60

      The goal of Internet-based encyclopedia Wikipedia (www.wikipedia.org) is to give everyone on the planet access to information. Like other encyclopedias, Wikipedia contains lots of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikipedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.

     Encyclopedias began in ancient times as collections of writings about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteenth century in Europe and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated, like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts. At first, Wikipedia, the brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide information quickly and easily to everyone. Furthermore, that information would be available free, unlike other Internet encyclopedias at that time.

     But Wales, like everyone else, believed that people with special knowledge were needed to write the articles, and so he began by hiring experts. He soon changed his approach, however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “Wiki” software (from the Hawaiian word for “fast”), which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you – about your hometown, for example – you can correct it or expand it. This process goes on until no one is interested in making any more changes.

Question 51:  Wikipedia is a(n) ___________ .

A. book

B. journal

C. article

D. dictionary

Question 52:  Wikipedia is written by___________.

A. paid written
B. millionaires
C. normal people
D. world experts

Question 53:  The phrase “these writers” in the first paragraph refers to _______.

A. ordinary readers   



B. ordinary people           

C. encyclopedia experts 


D. every subject

Question 54:  The phrase “the word” in the second paragraph refers to ________.

A. knowledge

B. encyclopedia
C. writing

D. collection

Question 55:  Microsoft’s Encarta is cited in the passage as an example of _______.

A. CD-ROM dicitonary


B. printed encyclopedia

C. online encyclopedia


D. updateable online encyclopedia

Question 56:  The word “brainchild” in the 2nd paragraph of the passage can be best replaced by_____.

A. born

B. child

C. product

D. father

Question 57:  The word “approach” in the third paragraph of the passage means________. 

A. idea

B. time

C. method

D. writing

Question 58:  The user of Wikipedia can do all of the following EXCEPT__________.

A. have access to information           
B. determinate the website          

C. modify information
       

D. edit information

Question 59:  We can say that Jimmy Wales _______.

A. became very famous after the formation of Wikipedia                      

B. is the father of Wikipedia

C. made a great profit from Wikipedia                                                  

D. decides who can use Wikipedia

Question 60:  Wiki software enables _______.

A. exchanging articles           

B. a purchase of information                  

C. limited access
             

D. editing

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 70

Fiberscopes are one of the most are one of the most important outcomes of he science of fiber optics. Fibers made of glass and transparent acrylic plastic are capable of conveying light energy, and when thousands of these fibers are combined in what is called a fiberscope, they can transmit images. The most common fiberscopes contain about 750,000 fibers, each 0.001 centimeter, or 10 microns, in diameter. For certain uses, the diameter of the fiber may be as small as 5 microns.

Fiberscopes have a wide range of applications. In the medical field, physicians use fiberscopes to examine internal organs and as an aid in delicate surgeries. Miniature probes have also been developed to view muscle fiber, skin tissue, and blood cells. Fiberscopes have also found varied uses in industry, particularly to inspect or control operations in inaccessible areas. Bundles of fiberscopes fused together in a solid plate, called a faceplate, are being used in the manufacture of television tubes and other cathode-ray tube devices.

The most far reaching applications of fiber-optic technology are in communication. Optical fibers carry voice messages for telephone service. The sound of the voice is electronically broken down into thousands of pulses per second, which causes a transmitting laser to send coordinated pulses of light through the optical fibers. At the receiving end, the light pulses are converted to electrical signals and the voice message is reconstructed. Light-wave communication systems can handle an immensely greater number of telephone calls and television programs than the current system, and they will form the basis of the “electronic superhighway” expected to crisscross the nation in the near future of the information age.

Question 61: How do optical fibers carry voice message?

A. By fusing bundles of fiberscope into a faceplate
B. By converting electrical signals to light pulses
C. By sending coordinated electrical pulses through optical fibers
D. By using cathode-ray tube devices.

Question 62: The word inaccessible in line 9 means

A. difficult to find



B. extremely small


C. hard to reach



D. impossible to climb

Question 63: 
It can be inferred from the passage that fiberscope
A. have more uses in industry than in medicine
B. will play a major role in the information age
C. will decrease in importance as they become more common
D. have reached the peak of their development

Question 64: Where in the passage does the author discuss the uses of miniature probes in medicine?

A. lines 2-7

B. lines 6-8

C. lines 14-16

D. lines 17-19

Question 65: The main topic of the passage is
A. The birth of the “electronic superhighway”
B. The various applications of fiber-optic technology
C. How fiberscopes have enhanced the field of medicine
D. How sound may be transformed into light

Question 66: As used in line 18, the word they refers to
A. fiberscopes



B. light-wave communication systems
C. television programs


D. television calls

Question 67: The word converted in line 15 is closest in meaning to
A. transferred

B. transformed
C. transmitted

D. changed

Question 68: The word coordinated in line 14 is closest in meaning to
A. separated

B. organized

C. transformed
D. deconstructed

Question 69:
Fiberscopes are being used to do all of the following EXCEPT
A. assist in delicate surgeries

B. control operations in inaccessible areas
C. convert light pulses to electrical signals

D. transmit images

Question 70: The passage will most likely be followed by a discussion of

A. homes and businesses of the future
B. the structure of fiberscopes
C. additional uses of fiberscopes in industry
D. the use of fiber optics in the electronic superhighway

Mark the letter A,B,C or D on your answer sheet to indicate the correct word or phrase to fill in the blank in the following passage from  71 to 80.    

Why do people like to chew gum? Some people say they like the taste____71____say they can think better if they chew gum. Some people chew it when they have some boring work to ____72____.Others chew gum when they are nervous.

Gum is a____73____of things. For many years gum companies made gum from chicle. Chicle is a natural gum from a tree in Mexico and Central America. Now companies use plastic and rubber made from petroleum____74___of chicle.

Gum must be soft____75____ you can chew it. A softener keeps it soft. The gum company makes the softener from vegetable oil. A sweetener makes the gum sweet. The sweetener is usually sugar. Then the company___76___   the flavor.

Thomas Adams made the first gum from chicle in 1836. ___77___, chewing gum was not new. The Greeks chewed gum from a tree____78___ 2,000 years ago. Mayan Indians in Mexico chewed chicle. Indians in the Northeastern United States taught Europeans to chew gum from a tree there.

    People first made bubble gum in 1928. Children like to___79___ bubble with bubble gum. Some university students do___80___.

Question 71:  A. The other

B. Others

C. The others

D. Other

Question 72: 
A. make

B. get


C. do


D. carry

Question 73: 
A. mixture

B. roll


C. fix


D. connection

Question 74:
A. aside

B. apart

C. inside

D. instead

Question 75:  A. so that

B. then

C. for


D. that

Question 76: A. puts


B. places

C. adds

D. fits

Question 77: A. However

B. More

C. But


D. Though

Question 78: A. more

B. over

C. above

D. than

Question 79: A.  turn

B. set


C. pass

D. blow

Question 80: A. so


B. too


C. then

D. same

----THE END---
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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

1. I gave the waiter a $50 note and waited for my _________.


A. change 

B. supply

C. cash


D. cost

2. I'm going to stay at university and try to ________ off getting a job for a few years!


A. stay 


B. put


C. move


D. set

3. People can become very __________ when they are stuck in traffic for a long time.


A. nervous 

B. bad-tempered

C. stressful 

D. pressed

4. I believe that judges should be independent _________ the government.


A. to 


B. from


C. with


D. on

5. The MP asked ________ the prime minister was aware of the growing social problem.


A. that 


B. him 


C. if


D. what

6. Remind Tony about party _________.


A. incase 

B. unless

C. provided that 

D. except

7. The government should do more for ___________ people.


A. usual


B. ordinary 

C. everyday

D. typical

8. I know we had an arguement, but now I'd quite like to _________.


A. look down 

B. make up 

C. fall out

D. bring up

9. - I'm going to set up the equipment in a minute.
+ ___________ give you a hand?


A. Shall we 

B. Will I 

C. Would I 

D. Do I 

10. I think there's a picture of the hotel __________ the first page.


A. on


B. at


C. in 


D. to

11. I'm saving all my pocket money __________to buy a new PlayStation.


A. out 


B. down 

C. up 


D. away

12. We usually do go by train, even though the car _________ is a lot quicker.


A. travel 

B. journey

C. trip 


D. voyage

13. Dogs make very ________ pets. They'll always stay by your side.


A. mental

B. private

C. loyal


D. digital

14. They ________ have seen the play last night as they went to a football match instead.


A. could 

B. must


C. might

D. can't

15. I'm sorry, but I've got __________ much work to do to come to the beach today.


A. so 


B. such


C. enough 

D. too

16. - You must be Jane's sister. Glad to meet you.
+ __________


A. I am, either 

B. So I am. I'm glad 
C. What do you do 
D. Me too

17. The boys ________ that he had had anything to do with the break-in.


A. refused 

B. denied

C. objected

D. reject

18. - __________ ?

+ About tem miles before we met him.


A. How fast did he drive 



B. How long did he drive


C. How often did he drive


D. How far did he drive

19. Do you have __________ to take that bicycle?


A. allowance 

B. exception 

C. willingness

D. permission

20. The sign says that all shoplifters will be ________.


A. persecuted 

B. disproved 

C. prosecuted 

D. prohibited

21. - How lovely your pets are!

+ ___________


A. Thank you, it's nice of you to say no

B. Really? They are


C. can you say that again



D. I love them, too

22. She should ___________ in the garage when we come around, which would explain why she didn't hear the bell.


A. work 

B. be working 

C. have worked

D. have been working

23. Going on this diet has realy ________ me good. I've lost weight and I feel fantanstic!


A. made 

B. taken 

C. done 


D. had

24. Dr Parker gave my mum a lovely ________ for spaghetti carbonara.


A. recipe 

B. prescription

C. receipt 

D. paper

25. - Goodbye, Susie!

+ ____________!



A. So so 

B. The same

C. Yeah


D. So long

26. If you hadn't lost the pieces, we __________ a game of chess.


A. couldn't have had 
B. can't have 

C. may have

D. could have

27. Kelly wanted to have a live band _________ at her wedding.


A. to be played 

B. play


C. played

D. been playing

28. - What do you want to do this summer?  + I think we should go somewhere ________ has plenty of sun and sand.


A. who 


B. where

C. when 

D. that

29. You should __________ a professional to check your house for earthquake damage.


A. have 


B. make 

C. take 


D. get

30. We _________ today and I got into trouble because I hadn't done it.


A. had checked our homework


B. had our homework checked


C. were checked our homework


D. have our homework checking

Mark the sentence (A,B,C or D) that is the best way to have a complete sentence with the words given

31. without / glasses / see / board


A. I can't even see nothing on the broad without any glasses.


B. I can hardly see anything on the broad without any glasses.


C. Without any glasses, I can't almost see nothing on the broad.


D. Without any glasses, nothing on the broad can be seen by myself.

32. when / read / note / already / leave / Europe?


A. When will you read this note before I'll leave for Europe?


B. When reading the note, I've already left for Europe.


C. When you read this note, I'll have already left for Europe.


D. When this note will be read, I'll have already left for Europe.

33. all / need / black coffee


A. All I am needing to be drinking a cup of black coffee.
B. All is needed to be drinking a cup of black coffee.


C. All of the need now is to drink a cup of black coffee.
D. All I need now is a cup of black coffee.

34. it / time / people / build / permission


A. It's high tome we prevented people from building houses without permission.


B. It's time for people stop building their houses without permission.


C. It's time we prevented people to build houses without permission.


D. It's about time we should stop people building house without permission.

35. have / succeed / interview / hope / work / soon


A. She's succeeded in the interview so as to hope working soon.


B. She's succeeded in the interview so that she hopes working soon.


C. She's succeeded in the interview, she hopes that she works soon.


D. Having succeeded in the interview, she hopes to start working soon.

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.
36. Transplanting organs such hearts and kidneys had proved easier than transplanting muscles.

37. On the floor of the Pacific Ocean is hundreds of flat-tipped mountains more than a mile beneath sea level.

38. No longer satisfied with the emphasis of the Denishawn school, Martha has moved to the staff of the Eastman school in 1925.

39. Not until much later did she realize her long-known partner had been lying her.

40. Justice is often personified as a blindfolded woman to hold a pair of scales.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the question from 41 to 50

Line  The principle of use and disuse states that those parts of organisms' bodies that are used grown larger. Those 
parts  that are not tend to wither away. It is an observed fact that when you excercise particular muscles, they 
grow. Those that are never used dimish. By examming a man's body, we can tell which muscles he uses and 
which he doesn't. we may even be able to guess his profession or his reaction. Enthusiasts of the "body- building"
5
cult make use of the principle of use and disuse to "build" their bodies, almost like a piece of sculpture, into whatever unnatural shape is demanded by fashion in this peculiar minority culture. Muscles are not the only parts of the body that respond to use in this kind of way. Walk barefoot and you acquire harder skin on your soles. It is easy to tell a farmer from a bank teller  by  looking  at their hands alone. The farmer's hands  are horny, hardened

10
by long exposure to rough work. The teller's hands are relatively soft.


The principle of use and disuse enables animals to become better at the job of surviving in their world, progressively better during their lifetime as a result of living in that world. Humans, through direct exposure to sunlight, or lack of it, develop a skin color  which  equips them better to survive in the  particular local conditions.

15
Too much sunlight is dangerous. Enthusiastic sunbathers with very fair skins are susceptible to skin cancer. Too little sunlight, on the other hand, leads to vitamin-D deficiency and rickets. The brown pigment melanin which is synthesized under the influence of sunlight, makes a screen to  protect the underlying   tissues   from the   harmful effects of further sunlight. If a suntanned person moves to a less sunny climate, the melanin disappears, and the body is able to benefit from what little sun there is. This can be represented as an instance of the principle of use 

20
and disuse: skin goes brown when it is "used", and fades to white when it is not.
41. What does the pasage mainly discuss?


A. How the principles of use and disuse change people's concepts of themselves.


B. The way in which people change themselves to conform to fashion.


C. The changes that occur according to the principle of use and disuse.


D. The effects of the sun on the principle of use and disuse.

42. The phrase "wither away" in line 2 is closest in meaning to


A. split 


B. rot 


C. perish 

D. shrink

43. The word "Those" in line 3 refers to


A. organisms 

B. bodies 

C. parts 


D. muscles

44. According to the passage, men who body build.


A. appear like sculptures



B. change their appearance


C. belong to strange cults



D. are very fashionable

45. From the passage, it can be inferred that author views body building.


A. with enthusiasm
B. as an artistic from
C. with scientific interest

D. of doubtful benefic

46. The word "horny" in line 9 is closest in meaning to.


A. firm


B. strong 

C. tough 

D. dense 

47. It can be inferred from the passage that the principle of use and dissure enables organisms to


A. change their existence 


B. automatically benefit


C. survive in any condition


D. improve their lifetime

48. The author suggests that melanin


A. is necessary for the production of vitamin-D
B. is beneficial in sunless climates


C. helps protect fair-skinned people

D. is a synthetic product

49. In the second paragraph, the author mentions suntanning as an example of


A. humans improving their local condition

B. humans surviving in adverse conditions


C. humans using the priciple of use and disuse
D. humans running the risk of skin cancer

50. The word " susceptible" could be best replaced by

A. condemned 

B. vulnerable 

C. allergic 

D. suggestible

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

51. A. recommend              
B. hurricane
    
C. photograph

D. separate
52. A. explain

B. involve

C. purpose

D. control
53. A. furnish

B. reason

C. promise

D. tonight
54. A. specific

B. coincide

C. inventive

D. regardless
55. A. habitable

B. infamously

C. geneticist

D. communis
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 56 to 65

THE HISTORY OF WRITING

The development of writing (56) ______ a huge difference to the world and might see it as the beginning of the (57) ______. Pieces of pottery with marks on that are probably numbers have been discovered in China that date from around 4000 BC. Hieroglyphics and other forms of "picture writing" developed in the (58) _______ around Mesopotamia (mordern-day Iraq), where the ancent Sumerian civilization was based, from around 3300 BC onwards. However, the first (59) ________ alphabet was used by the Phoenicians around 1050BC. Their alphabet had 22 letters and it is estimated that it lasted for 1000 years. The first two signs were called "aleph" and "beth", which in Greek became "alpha" and "beta", which gave us the (60) ________ word "alphabet"

The modern European alphabet is based on the Greek and (61) _______ to other European countries under the Romans. A number of changes took place as time passed. The Romans added the letter G, and the letter J and V were (62) ______ to people in Shakespear's time.

If we (63) _______ the history of punctuation, we also find some interesting facts. The Romans used to write quaesto at the end of a sentence in (64) _______ to show that it was a question. they started to write Qo in (65) _______ of the whole word, and then put the Q above the o. In the end, that became the question mark "?"

56. A. did 


B. had 

C. made 

D. took 

57. A. media

B. bulletin 
C. programme 

D. journalism

58. A. distance 

B. area 

C. length 

D. earth

59. A. true 


B. accurate 
C. exact 

D. precise

60. A. new 


B. trendy 
C. modern 

D. fashionable

61. A. speard 

B. appeared 
C. was 


D. occurred

62. A. infamous

B. unpopular
C. unknow

D. hidden

63. A. look into 

B. bring on 
C. make off 

D. hold up

64. A. turn 


B. fact 

C. order 

D. intention

65. A. position 

B. space 
C. spot 


D. place

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 66 to 75

Line    A small but growing group of scholar, evolutionary, psychologists, are being to sketch the contours of the human mind as designed by natural selection. Some of them even anticipate the coming of a field called "mismatch theory", which would study maladies resulting from contrasts between the modern environment and the "ancestral environment". The one we were designed for.

5
There is no shortage of such maladies to study, Rates of depression have been doubling in some industrial countries roughly every 10 years. Suicide is the third most common cause of death among young adults, after car  wrecks and homicides.


Evolutionary psychology is a long way from explaining all this with precision, but it is already shedding enough 10
light to challenges some conventional wisdom. It suggests, for example, that the nostalgia for the nuclear family 
of the 1950s is in some way misguided - that the model family of husband at work and wife at home is hardly a 
"natural" and healthful living arrangement, especially for the wives. Moreover, the bygone lifestyles that do 
look fairly natural in light of evolutionay psychology appear to have been eroded largely by commercialism. 
Perhaps the biggest surprise from evolutionary psychology it its depiction of the "animal" in us. Freud, and  various

14 thinkers since, saw "civilization" as an oppressive force that thwarts basic animal instincts and urges and  transmutes them into psychophathology. However, evolutionary psychology suggests that a larger threat to metal health may be the way civilization thwarts civility. There is a gentler, kinder side of human nature, and it seems increasingly to be a victim of repression in modern society. 

66. Which of the following is the main topic of the passage?


A. How evolutionary psychology manages modern society.


B. The problems of illness caused by modern society.


C. The iportance of ancestral environment.


D. Evolutionary psychologists' views on the nuclear family.

67. The word "contour" in line 1 is closest in meaning to


A. actions 

B. limits 

C. structures 

D. outlines

68. According to the pasage, the death of many young people in industrial countries is mainly caused by


A. murder 

B. traffic accidents 
C. suicide 

D. depression

69. The word "one" in line 4 refers to the


A. mismatch theory 
B. field 


C. modern environment
D. ancestral environment

70. It can be inferred from the passage that evolutionary psycgologists dislike nostalgia for the 1950s because


A. It was an unhealthy time to live


B. the nuclear family provided an unsatisfactory lifestyle.


C. women who wished to go out to work were misguided.


D. family life was seen to be unnatural.

71. The word "bygone" in line 11 could be replaced by


A. overlooked

B. forgotten 

C. past 


D. original

72. According to the passage, Freud and other psychologists thought civilzation


A. showed that people have animal instincts.
B. greatly improved people's lives.


C. encouraged people to use the basic instincts
D. caused madness in some people.

73. In this passage, the word "civility" in line 16 is closest in meaning to


A. courtesy

B. politeness

C. morality 

D. formality

74. In the passage, evolutionary psychologists suggest that in modern society


A. victims are always punished 


B. people's better natures are denies


C. repressed people are kind and gentle

D. people suffer from repression

75. Where in the passage does the author suggest a conflict between the ways of living?


A. lines 2-4

B. lines 9-12

C. lines 13-14

D. lines 16-17

Mark the letter A, B, C, or D on your answer sheet to indicate the best way to complete each of the following sentences.

76. The temperature inversions often occur when ________ in the late afternoon.


A. the earth's surface is cooled


B. the earth's surface is cooling


C. the surface of earth cooled


D. cooling the earth's surface

77. A little farther down the street _________.


A. is the inn I used to stay at.


B. there is an inn where I used to stay in


C. the inn is the place where I used to stay

D. is ther an inn in which I used to stay

78. He came to Nairobi _______.


A. with a view to climb Mt. Kenya

B. so for climbing Mt. Kenya


C. intended to climb Mt.Kenya


D. with the intention of climbing Mt. Kenya

79. Kate is committed to ________.


A. buying goods from that shop 


B. buy goods from that shop


C. that shop for buying goods


D. that shop to buy goods

80. The children sing loudly _________.


A. as though they are the winners


B. though they are the winners


C. as if they were the winners


D. were they the winners
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